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Which one of the following is the correct
sequence of the position of the given components
in a turbo —prop?

(A) Propeller, Compressor, Turbine , Burner
(B) Compressor, Propeller, Burner, Turbine
(C) Propeller, Compressor, Burner, Turbine
(D) Compressor, Propeller, Turbine, Burner
(E)  Question not attempted

frefafiaa & & SH-a1 Z&-979 § 4 TC geshi i
ferfer 1 et om0 22

(A) TR, SIFT, TiE, T

(B) I, T, ST, 2alig

(C)  YIUS, HIET, S, 2ig

(D) YT, YU, &, T

(E) 31aid 9

The emissivity of a conducting material does not
depend on:

(A) Total emissive power of a real surface (E)
(B) Surface area(A)

(C)  Absolute temperature (T)

(D) Absorptivity (o)

(E)  Question not attempted

TTeTeh qard T Iearsiohar fohd o T T et
(A) dTEd e i Fel Icasieh A1h (E)

(B) HdE & (A)

(C) 9™ dMHH (T)

(D) ST &THAT (o)

(E) 3rgafd 9

Which of the following has least value of Thermal

Conductivity ?

(A) Rubber (B) Air

(C) Plastic (D) Water

(E)  Question not attempted

fmfafiaa 9 @ foreehr aTdi =TeteRar wed 9 22
(A) TR B)

(C) e (D)

(E) Igaiayg

B129/E1] /\

In Rajasthan, mixed Autumn Forests and Dhokra
Forests are part of :

Choose the most appropriate answer from the
options given below.

(A) Subtropical Hill Forests

(B) Tropical/Dry Deciduous forests

(C) Tropical Thorn Forests

(D) Evergreen Forests

(E)  Question not attempted

TSTET | Ui we g o9 ST Sl o forerhr
fewar &2

et o T forehedl # & Hed ST ST |

(A) USRS TRt 9

(B)  ISUTshiesieia/3Tseh quiaTdt o

(C) SWhieHENT FHideR I

(D) WETEER a4

(E) rgdia =

Which of the following Wildlife Sanctury is
located in Bharatpur area of Rajasthan?

(A) RamgarhVisdhari

(B) Bandh Baretha

(C) Ramsagar

(D) Nahargarh

(E)  Question not attempted

fafafad & 9 =F 97 I=sia SRR TSE &

AL & T ferd 22
(A) THTefomu®  (B) S wEr
(C) THETR (D) TR
(E)  rfdita o=

What is the negative impact of Indira Gandhi

canal in Rajasthan?

(A) Reducing the wind erosion

(B) Waterlogging

(C) Awvailability of soil moisture for long
period

(D) Afforestation

(E)  Question not attempted

TSTET H e TT7eft 8T T FohTIesh T T 22

(A) T G il FH FAT

(B) SeE

(C) Tudh o < gmr aeh o) T SuTsuar

(D) T

(E) a9
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Irrigation plays an important role in agriculture.

Exploitation of underground water, non-
maintenance of ancient water conservation
methods and deforestation in Rajasthan have led
to:

Choose the most appropriate answer from the
options given below.

(A) Land slide

(B)  Air pollution

(C) Drought

(D)  Scarcity of fodder

(E)  Question not attempted

TH=ITS Y o Wecaqu ffiehT (T 81 YT STet 1
e, WA et e it o1 STReer 7
TAT TS H T T HeTg o T 98 § i ©f

ﬁﬁrﬁra—cq:rgé%

=t faw T foreredt H € wed IWeh 3T T
(A) ¥¥Eed

(B) AT

€ @I

(D) =H FH

(E) gaidud

According the provisions of the Protection of
Human Rights (Amendment) Act-2006, The
State Human Rights Commission of Rajasthan is
a multimember body consisting of:

(A) A Chairperson and five Members

(B) A Chairperson and six Members

(C) A Chairperson and one Member

(D) A Chairperson and two Members

(E)  Question not attempted

AHETYHR @& (@uee)  IffEm-2006 &
TEHHl & TR TSEIH T AT AR
HTANT T Sgaee Ty fenm 2, Fore v &:

(A) T 7T 3N U &8

(B) U Teqe 3N T8 UL

(C) U eTe 3N T UK

(D) U 7T 3N T IS

(E) Iqaid g%

B129/E1] /\
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Who among the following was appointed as chief
Information Commissioner of Rajasthan on
9 July, 20247

(A)  Shri Suresh Chand Gupta

(B)  Shri Mohan Lal Lather

(C)  Shri Teeka Ram Sharma

(D)  Shri Mahendra Kumar Parakh

(E)  Question not attempted
frfifiad ® & TSTEeT o 7T g SR & &9
9 TS, 2024 I fohee 17k fobarm T a2

(A) 2 T = T
(B) it OTE AT AT
(C) it T T i
(D)  #f Hex FHR I
(E) qaid s

The State Election Commission (SEC) Rajasthan
was constituted under which Article of the
Constitution of India?

TSTEI ST FH1E SN (SEC) T 13T AT

e % forer stg=eve o ded foharm T o
(A) 239A (B) 241
(C) 240 (D) 243K

(E)  Question not attempted / ST )

Streamline, pathlines and streaklines are identical
when the flow is:-

(A)  Uniform (B) Laminar

(C) Compressible (D) Steady

(E)  Question not attempted

T LT, T LT 3T 07 T 9974 Bl & S a8
BT 8: -

(A)  THEdH (B) YT
(C) Hdied (D) fer
(E) orgafaus

[ Contd...
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13

14

15

Which is used to visualize and analyze the flow
field?

(A) Venturi meter (B)
(C) Manometer (D)
(E)  Question not attempted

TaTE & ol 3@ 3T 3qHT fasdmor v & fow
forerent SU=T forar StraT 22
(A)  dgiHiE (B)
(C) HH (D)
(E) 3raid 94

Streamlines
Orifice meter

BIRVRRE])
SATTRE Hiex

In the limitation of Euler’s formula, the critical
stress 6, which is defined as an average stress
over the cross-section for a standard case is -

T o G T HT H, SHifde Yfded o, S8 T
A AN o [TT SITIEY H1e W SAEa fdere
9 | gReATiYa foraT SITaT €, 9% 8-

(A) 7 EI/ (le/K)?

(B) 1’ E/(e/K)?

©) 1’ E/(Kle)?
2

(D) =" E/(Klle)
(E)  Question not attempted / ﬂ@ﬁf@ Iq

Udaipur is mainly known for the production
establishment of:

(A) CopperPlant (B) Granite

(C) Silver (D)
(E)  Question not attempted

IR qeg w9 ¥ Trefafigd & Ieared e &
T%TE EIEISIGIEH

Zinc Smelter

(A)  dieT G (B) TATEE
(C) =idr (D) & @R
(E) gaidud

Which of the following is not a three tier
Panchayati Raj system institution in Rajasthan?
(A) Gram Panchayat

(B) Panchayat Samities

(C) Zila Parishads

(D) Zila Samities

(E)  Question not attempted

ffafad § 9 TS 7 &9 o ger ey
T U SaeT R 82
(A) UM 9=EEd (B)
©) fSemufeee (D)
(E) 3rgaiid o

PEIEGRIEIRRI
ISRIRSICIGRI

B129/E1] /\
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The 74™ Constitutional Amendment empowered
Urban Local Bodies (ULBs) to perform how
many functions listed in the 12" schedule?

743 WfTeT HIe o e T e (ULB) st
12 STt o geiterg fora s T o1 SRR
feam

(A) 25 (B) 24

(C) 18 D) 15

(E)  Question not attempted / Gilgﬂﬁ?f BE)

The Lokayukta is appointed by -

(A) The Chief Minister

(B) The Governor

(C) The Chief Justice of the State High Court
(D) The Leader of Opposition

(E)  Question not attempted

SHepTes <61 P Freaferfiad g 1 e 2.
(A) T

(B) TSIUTA

(C) ST I=a AT o HET =TT
(D)  fIwer &1 3ar

(E)  3gaild o=

The glory of which folk deity is told through a
scroll called “Phad” ?

(A) Ramdevji (B)
(C) Pabuji (D)

Gogaji

Tejaji

(E)  Question not attempted

“hg” M TES o AT ¥ foRH ik qarar
TfeHT ST T 22

(A) THFST (B) TSt
(C) TSt (D) dSSit
(E) 31gaid o

[ Contd...
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Which one of the following is not a famous
handicraft work from Rajasthan ?

Choose the most appropriate option from below:
(A) Thewa Gold Leaf Work

(B) Dolls of Krishnanagar

(C) Bhandhani

(D) Blue Glazed Pottery

(E)  Question not attempted

frfafad § & SH-87 TSEH & Ihg = iieq
1 T 27

1 4 & e S forshe =

(A) AT TIeE o Tk

(B) UM shi TTfgaTq

(C) SreHt
(D) et Tmehiett firdt & de
(E) SIgaia

Historical tradition of Rajasthani Literature is
divided ‘Period’

chronologically according to ‘trend’.

into four Arrange them

a. Period representing diverse tendencies and
rise of new genre.

b. Veergatha Period

C. Shringar, Riti and Niti Period

d. Bhakti Period

TSTEHT Fifeed i Uferfies wWo 9 Ferdel J

forTfor 21 37 FeTshmTaT S o STER st

ey

a.  farfeer et oi e st 3 vem  ami

ATAT HIAEE|
b. ST I
d. k@
Choose the most appropriate option from below:
1 5 4w Suh forshe =14
(A) a,b,c,d (B) d,a,b,c
(C) b,d,c,a (D) ¢c,d,ab

(E)  Question not attempted / 34'@'&?[ BES

B129/E1] /\
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23

Where do women wear * Kardhani’ ?
(A) Around the neck

(B) Around the waist

(C) Inthe ears

(D)  On the head

(E)  Question not attempted

AiEATE FEHT el dedl 87

(A) TIH (B) &WH
(C) HEIH (D) fR®w
(E) 1gaid 9%

Who among the following founded Mewar State
Prajamandal? (Choose the most appropriate
option from below)

(A) Vasudev Balwant

(B) Manikya Lal Verma

(C) Vasudeo Hari Chapekar

(D) Madan Lal Dhingra

(E)  Question not attempted

TR & & HaTe TS SSTHEH oh AT fohe
17 (e 4 9 e 3uh forshed )

(A) aTYEd S

(B)  HIUTSRT AT a1

(C) AT TR

(D) HE AT ST

(E) rfdita o=

Which of the following not joined Greater
Rajasthan in fourth stage (on 30-March-1949)?

(A) Bikaner B)
(C)  Jodhpur (D)

Jaisalmer
Alwar

(E)  Question not attempted

frefafaa & & <1 =7 (30 919 1949) W 988

TSTEAT | Mo TE g1
(A) ST (B) SHTHT
(©) SrHE (D) 3T
(E) a9
[ Contd...
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26

The maximum slope at the free end of cantilever
beam having uniformly distributed load ‘w’
through out its length is given by:

O SIS H EHT T Y forafid A w et hfeeftan
o % T B W Afhad s ey faar
SITAT 2:

w13 w13
(A 3E7 B) &7
3 3
/ Syl
©  §&7 D)  IRE7

(E)  Question not attempted / aaﬁﬁ?f Iq

The elongation of a conical bar made up of a
material that has specific weight y and modulus
of elasticity E, due to self weight hanging

vertically is - (the length of bar being /)
fafers 9 v SR SeaTEear 9T9ieh £ 9o 9ard ¥ o

T YHTHR B Al AalTs H HEATI §9 § Th §U

T 3 T o T fEaT HICEEIRGELS
I®)
& &
A 3z ®) +r
l3
© L o =

(E)  Question not attempted / 33Ii|?||3?a Tq

The nature of shear stress distribution in a
rectangular beam is:

(A) Linear (B)
(C) Elliptic (D)

Uniform
Parabolic

(E)  Question not attempted
Teh ST ST 8 ShertAT a1l foraor <l Jepfer 2:

(A) Ma=w (B) UTHEUN
(C) ISR (D) WIARF
(E) Aqaid o=

B129/E1] /\
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The flow of an unbounded fluid over a surface is

called as when fluid is completely

bounded by solid surface.

(A)  Uniform flow and non—uniform flow

(B) Viscous flow and inviscid flow

(C) Laminar flow and Turbulent flow

(D) External flow and Internal flow

(E)  Question not attempted

forelt T8 W U STTETd aiet were o YaTe i
el ST & 99 W 9ard i W@ o

39 HaE ¥ o Bar B

(A) HHM YaTE 3R TEAE JaT8

(B) YA JaTE 3R 7T Y48

(C) Tl yaTE 3 efsy Yare

(D) STEd YaTE 3R Safe Jare

(E) rgdia o=

The actual pressure at a given position is called

as-

(A) Absolute Pressure

(B) Gauge Pressure

(C)  Atmospheric Pressure
(D) Vacuum Pressure

(E)  Question not attempted

foret ffara o ot aTedfaes qaTd it 3T el ST

(A) froegTEE

(B) TNIEEE

(C) dIHSHN qad
(D) Taia gama

(E) 31Jaid 9

[ Contd...
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30

The air pressure in an automobile tire read the

(A) Gauge Pressure

(B) Atmospheric Pressure
(C)  Absolute Pressure
(D) Vacuum Pressure

(E)  Question not attempted

T SIS <R § €T 31 galTd T Bl &7

(A) TS TEE

(B) drHEAR gE T

(€) e gaTa

(D) Trafagema

(E) SIfaia

The river falls into the Gulf of Kutch

(Kachchh) and, the river falls into the
Gulf of Khambhat on way to falling into the
Arabian sea.
Choose the most appropriate answer from the
options given below:
(A) Banas and Chambal
(B) Jhakam and Banas
(C) Luni and Tapi
(D) Luni and Mahi
(E)  Question not attempted
T Fes Al @ 7 OfRdt ®, iR
T 3T GIR | TR o TEd |, T T
el § firet 21
e fag T forshedt 7 @ werd WL I |
(A) o AR Hae
(B) TG IR TH

(C) ot PR ATt
(D) T AT AR
() AJaid

B129/E1] /\
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33

Which of the following factor does not determine
the climate of Rajasthan? (Choose the most
appropriate option from below)

(A) Latitudinal position

(B) Distance from the sea

(C) Longitudinal position

(D) Land structure

(E)  Question not attempted

Frfetiad & & =9 |1 ik TSTET i STefarg
frerifed =& smedn? (R o & et Swyeh foreped =)
(A) e feafa (B) wzEEl

(C) dwiafearfa (D) qfd EeEHT

(E) gaid 9

Which of the following statement is correct about

laterite soil in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) It is formed by the crystalline and
metamorphic rocks.

(B) It is found in western desert region of
Rajasthan.

(C) It looks black due to presence of iron.

(D) It contains enough quantity of nitrogen.

(E)  Question not attempted

TS H oietge gl o ai | Fefafad 5 8

BICOERC T

et fow T forehedt 7 @ wer SUgh I

(A) TE fopEeeita 3R At 9T | a9dt 2

(B) IE USEYH & ufydr Wt &7 & 18
STt 2l

(C) IE AR il Jufkufd 3 Hror et fowd 2)

(D)  EH 131N i TTH | el 21

(E) 3gaid 9%

Which of the following relation follows

St. Venant’s theory for the maximum principal

strain in the complex system within elastic limit

without failure under simple torsion?

fefafad & § &9 91 999 ¥ a9 6 a8
TIheTdT o forT Teer €T o it Sifet yorret §
HAfYeraw qed T % e d2 o2 & fagia &
TS AT &7

(A) o©y-06y9=o0C

(B) 05 — V09— VG3=0
©) 61+G%—0102:G
(D) o©y*tvoytvoy=oc
(E)  Question not attempted / ﬂiﬁﬁﬂ el

[ Contd...
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35

36

According to Hooke’s law, stress and strain
(A) are directly proportional

(B) are inversely proportional

(C)  have unpredictable relationship

(D) are curvilinearly related

(E)  Question not attempted

Toh o [ o TR, Tidere 37 farepfa
(A)  Hrd e &
(B)  SGHATIAT &

(C) AT GeeT Tad &
(D) TEh &Y G Heifod &
(E) 3rgaid o

The intensity of stress which causes unit strain is
called:

(A)  Unit stress

(B)  Principal stress

(C) Modulus of elasticity

(D) Normal stress

(E)  Question not attempted

gfdeet s fierdT ST SR a1 ST HIOT ST ®,
FHEAT &:

(A) T A

(B) TETTE

(C)  JATErdT ATk

(D) HH TS

(E) SFfdia o=

A gas turbine works on which of the following
cycles?

(A) Carnot cycle

(B) Otto cycle

(C) Diesel cycle

(D) Brayton cycle

(E)  Question not attempted

g etared fmfaftad § 9 forer <ish 90 5 T 22

(A) FHIETH (B) 3dr=sh
(C) ZNAdTH (D) AT
(E) Igaid g%

B129/E1] /\
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38

Choose the correct answer from the option given

below.

(A) In impulse turbine the expansion takes
place in guide vanes and moving vanes
both.

(B) In reaction turbine the expansion takes
place in guide vanes and moving vanes
both

(C) For Impulse turbine degree of reaction is
equal to one

(D) For reaction turbine degree of reaction is
equal to zero

(E)  Question not attempted

et o e forehed 7 @ @@t S

(A) TS ZelET H e oF ST qfm oF S |
foream graT 21

(B) TR ZaieT H MgS I SR qfdT 37 a1
7 foear grar

(C)  3maT eated & faw, wfafseam it feft v &
ERCL

(D)  fafskar zated o o, wtafsear i feuft s
& TR Bl 2

(E) STgaiawd

Which of the following command is not used for
editing a drawing in autoCAD software?
FTehe TTEIL H SIS ohl HUTIGd i o fefq e
T 4 fore ShwTe oA SUART T fora ST 82

(A) ERASE (B) EXPLODE
(C) EXTEND (D) POLYLINE

(E)  Question not attempted / 3T )
[ Contd...
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40

41

Resilience of a material becomes important when
it is subjected to :

(A) Fatigue

(B)  Shock loading

(C) Thermal stresses

(D) Pure static loading

(E)  Question not attempted

forelt wTaft T TATEaT O Heca Ul &1 STt & S
T T o reff Bt =

(A)  #ifd (B)  SITd WHOT
(C) ddEylds (D) & e Ao
(E) i g

The gears employed for connecting two non-in-
tersecting and non-parallel i.e. non—coplanar
shafts are:

(A) Bevel gears (B)
(C) Helical gears (D)
(E)  Question not attempted

3 NT-3qfdaTes 3T AT I F-gmae

Spiral gears

Mitre gears

ITFE Rl SIS o ToTT ST foRT ST aTet iR 2:
(A)  oad fimR (B) RRA firR
©€) wfawafrr (D) A )R
(E) 3rgaid 9
Match list I with list IT :
List I List IT
a. Unwin’s formulae 1. Bearing
b. Wahl factor II. Rivets
c. Reynold’s equation III. Gears
d. Lewis form factor  IV. Springs
gt 1o gt 119 grferd st
T 1 sl
a. I HET L st
b. & HH . fee
c. WicewmadEE L frR
d. TEEPM HFX 1v. feim

(A) a-1, b-1V, c-II, d-1IT
(B) a-II, b-I11, c-I, d-IV
(C) a-1, b-II1, c-11, d-1V
(D) a-II, b-1V, c-1, d-11
(E)  Question not attempted / 34333'?{?{ Iq

B129/E1] /\
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43

For a gear train the speed ratio is:

(A) directly proportional to train value

(B) directly proportional to square of train
value

(C) inversely proportional to square of train
value

(D) inversely proportional to train value

(E)  Question not attempted

irre 7 35 o o T

(A) T HM % €Y AT

(B) o7 A o a1l o HIY ST

(C) <7 HM o a1l o ScshHTATAT

(D) 7 I o AT

(E) Iaidwd

Centrifugal compressor are suitable for large
discharge and wider mass flow range, but at a
relatively low discharge pressure of the order of
10 bar, because of:

(A) Low pressure ratio

(B) Limitation of size of receiver

(C) Large speeds

(D) High compression index

(E)  Question not attempted

FURET (heacdT) HIE T s 3R v
T YATE {51 o folq 3Uh &, Ifeh 10 Sk 360
% YT FH a8 qaTd T, FTh:

(A) H & AT

(B) iR & 3mmepm it i

(C) wrfd
(D) 3= HUTeT geehich
(E) qaiaug

[ Contd...
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44

45

46

In reciprocating air compressor the clearance
ratio is given by:

(A) Clearance volume / swept volume of
cylinder

(B) Total volume of cylinder / Clearance
volume

(C) Swept volume of cylinder / Clearance
volume

(D) Clearance volume / Total volume of
cylinder

(E)  Question not attempted

JATTTHY g gdtes § aue AT T g
IERIESII RS

(A) S S / faferet @1 e smad
(B) Turfciet &1 et STIa / Sfaurett stadq
(C) Tufciet = gufed smrd / Squeft sfreraT
(D)  SiaUrelt Sdd / fafetet 1 Fet AT
() 1aid 9

The air standard efficiency of closed gas turbine
cycle is given by (r, = pressure ratio for the
compressor and Turbine).

ST 79 AT =5k ol a1 HIe S&TdT (1, = e

HIT TS o feTq qaTd S19Ta) 2t -

1

=1_
(A) n (rp)y—l
® n=1-0)""
-1
1

© n=i-z) 7

11
@) n=1-(5) 7
(E)  Question not attempted / ﬂaﬁf{?f 949

river of Rajasthan flows for 12 months
of the year. (Choose the most appropriate answer
from the options given below)

(A) Chambal (B) Banas

(C) Mahi (D) Sambhar

(E)  Question not attempted

TTET il i ©t T a9 & 12 7eH s=d 27 (=
faw T forshedt © | Gl 39T I )

(A) =&d (B) ™

(C) wmE (D) &R

(E) Igaid %

B129/E1] /\
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48

49

In 15" century, Paliwal Brahmins of Jaisalmer
used technical knowledge to construct water

management resources called,

(A) Khadin (B) Jhalar
(C) Tanka (D) Beri
(E)  Question not attempted

1 55t TTaTSeT H SEETHT % UTefaTed ST 3 dehieht
T T SUANT H ST e TTet oAt formfor fopam,

8 FETJ @Rl

(A) TR (B) HIeR
(C) ik (D) =l
(E) orgafau

Which of the following National Highway passes
through the Rajasthan?

(A) National Highway No. 315
(B) National Highway No. 11
(C) National Highway No. 2
(D) National Highway No. 4
(E)  Question not attempted
fefafaa o @ #1991 Ui TemEm TeRE 8
HEZRIEICINH

(A) TSI TSHF §&AT 315

(B) TSI USHN W& 11

(C) TSI USHAT E&AT 2

(D) TSI TSHAT E&AT 4

(E) oIgaid

In case of laminar flow over a plate, the convective
heat transfer coefficient :

(A) decreases with increase in free stream
velocity

(B) increases with distance

(C) increases if higher viscosity fluid is used

(D) increases if a denser fluid is used

(E)  Question not attempted

I 9T ATHAR TR & WIS |, Hag-T a19 S iaaor

TUTTeh:

(A) T TR 3 & a3 e e 3
(B) FFEIGAR
(C)  afe =T AT ATt 59 T SYAT oA A
Bdldedr e
(D) I ToF S T SUANT fordT SITAT & o S@dT ©
(E) aid 9
[ Contd...
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50

51

52

In which of the following cases , non isotropic

conductivity is exhibited?

(A) Lead (B) Wood
(C) Copper (D) Brass
(E)  Question not attempted

frefaRad & 8 for amger § T7 sTgHIEIfUs STetehar
Tefsid gl 87

(A) @ (B) <Iehetl
(C) dier (D) dad
() Aqaid g

What does transient condition means?

(A) Heat transfer for a short time

(B) Conduction when temperature at a point
varies with time

(C) Very little heat transfer

(D) Heattransfer with a very small temperature
difference

(E)  Question not attempted

egforeh fearfer ohr o/ 1ok &2

(A) e 9 & foTT SeuT Termiawor

(B)  =ITei e feopell fofg ox dqTod @ o @1
e &

(C)  STEd hH AT TR

(D)  gd FH ATTHIT JHAL 6 | FHSHT ST

(E) i g

A thermodynamic cycle receive 800 kJ of heat
from a source at 450 K and produce 280 kJ of net
work while rejecting the waste heat to the
atmosphere at 300K.What will be its thermal
efficiency?

Teh SSATTI o156 450 K T @1d 8 800 kJ 6T
TH LT & 31 300K T ATIHSS H 31T FoHT hi
IR Fd TT 280 kI [E HE 34 T 2l

TEh AT FEeT T B

(A) 30% B) 35%

©) 25% (D) 40%

(E)  Question not attempted / ?ﬂﬂﬁﬁ 99

B129/E1] /\
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53

54

55

The entropy of a reversible process always :

(A) Remain constant

(B) Increases

(C) Decreases

(D)  Zero

(E)  Question not attempted

Teh SCERAYITY ThAT 3T Trgidt Hed:

(A) ferwdiz B wed?
(C) wedi® (D) AT R
(E) Iaid 9

The entropy of an isolated system or universe

always:

(A) Increases

(B) Decrease

(C)  Remain constant

(D)  Zero

(E)  Question not attempted

T ek U AT SIS 1 T2t gHe:
(A) el (B) wed®
() ferwdtz (D) 3=

(E) Iaid

The COP of a heat pump operating between 6°C
and 37°C will be:

6°C 3R 37°C % offr Hanferd & arel €2 99 &t
COP B
(A) 8 B) 10
(©) 12

(E)

(D) 14
Question not attempted / 3774 B
[ Contd...
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56

57

58

Who among the following was the first woman
who was arrested during freedom movement in
Rajasthan? (Choose the most appropriate option

from below)

(A) Anjana Devi Chaudhary
(B) Kaalibai

(C) Kishori Devi

(D) Janki Devi Bajaj

(E)  Question not attempted

frfafad & 9 T i o o g qfgar of
fSTe TdadT e & S TR%AR forar T
(Fret & & Her® 3T farehed <)

(A) ST S e
(B)  reitaTg

(C) Toramit 3=t

() BEIEEIRCIEEIE
(E) SIgaia

How many Indian states share their border with

Rajasthan?
fordy RdT U= TS & 91 9T i 9
Fd 82

A) 1 B) 2

© 4 D) 5

(E)  Question not attempted / 3'-|i|?l|?€‘l Iq
Aravalli ranges, a well known feature of

Rajasthan, runs in a direction.
Choose the most appropriate answer from the

options given below.

(A) North-West to North-East

(B) South-West to South-East

(C) North-East to South-West

(D) South-East to South-West

(E)  Question not attempted

ST TqTET, TS T Teh Wi, fersar 2,
S fommm o =rerlt )

et faw T forshedt H @ wed T I |
(A) IT-ulEm & T

(B)  Efeorufsm & afiorgd

(C) uL-gd ¥ afur-afem

(D) 3ferorgd & faror-afzm

(E) 3rgaiid o

B129/E1] /\
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60

61

Choose the correct value of maximum variation
in tractive force as an effect of partial balancing

in locomotives:

AR | SR S % THET 6 &9 H HH00

I H HAThad qiad ol gl 7 4
A) V2 (1-C)mr?

B) /3 (1-C) mrw?

©  +4/5(1-C)mrw’

(D) J_r(l-C)mrw2

(E)  Question not attempted / ﬂ@ﬁﬁ?r 99

Choose the correct expression to determine the
angular acceleration of connecting rod.

HATSIT B o I @0 il (4@ & o g o
Tk <

2
92 . n -1
(A —w'sin®|———5 =75
»(n2—sin29)3/2_
- ) :
2 . n +1
B) —w’sind|————7
| (n?—sin20)3/2
- ) :
2 . n -1
©C) —wsinb|———5 75
| (n?—sin20) /2|
" ) .
2 . n_—1
D) —w'sin®|——— =7
_(n2—sin29)°/2_
(E)  Question not attempted / 3T )

Rice is grown in which of the following region of
Rajasthan? (Choose the most appropriate answer

from the options given below)

(A) Jaisalmer (B)  Sriganganagar
(C) Bikaner (D) Jodhpur
(E)  Question not attempted

e & Aol & 9 g & § =mad s
ST 22 (= fow Ty foskedt # ¥ o IR IW

Ey)
(A) SHTE (B) TR
(C) dfiemT (D) Si¥q
(E) gaid 9
[ Contd...
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62

63

64

Which of the following region of Rajasthan is

origin of Tharparkar breed of cow?

(A) Kota (B) Bikaner

(C)  Jaisalmer (D) Banswara

(E)  Question not attempted

TSTEAT T I OT & RN & shl TR Rl
I T 87

(A) I (B) @M

(€) SHEaE (D) SferaTeT

() AJaid s

Which of the following is not beneficiary area of

Indira Gandhi Canal?
(A) Barmer (B) Kota
(C) Bikaner (D) Jaisalmer

(E)
frafafiaa 9 @ o9 e Tt 7=t o arvmeff e
&l 82

Question not attempted

(A) MR (B) =M
(C) wR (D) SHeT
(E) Faita g

Under uniform distributed loading (w) conditions,
choose the correct relationship of maximum
deflection (y) in a cantilever beam of length (/).
g1 faafa afeém (w) feafaat & stata, <« ()
& et w7 st fagmur () 1 a9 dey
=l

-2wl4 -wl4
(A »=—gEr (B)  y=ggr
4 4
_ =5wl _ =3wl
©  »y==gEr D) »==Er
(E)  Question not attempted / 31':5'&?[ LS

B129/E1] /\
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66

67

Choose the correct relationship of maximum
deflection (y) in a simply supported beam, length
[, under uniform distributed load(w) condition
over whole beam.

(Given, E = elastic modulus and / = moment of
inertia.)

QU1 O A o W (w) st fefer o, ook e
Tmfsfa sftm, &g [, § Stfireman faguor () &1 g

el ol
(feam T 8, E = seareer Haieh 3 [ = Sged SATeoi))
4 4
_ ZSwl— _ 6wl
(A y=34r1 B Yy=334%7
4 4
_ =3wl _=2wl
©  y=33a57 O Y=3%477
(E)  Question not attempted / 3T T 9q

Which of the following fort was built by traders
Bhainsa Shah and Roda Charan to protect their
Carvan from the mountain bandits in Chittorgarh?
Choose the most-appropriate answer from the
options given below.

(A) Bhainsrorgarh Fort

(B)  Chittor Fort

(C) Churu Fort

(D) Jaigarh Fort

(E)  Question not attempted

frafafed & @ =9 a1 fFer e o verEh
HAT Y 39 FHaT @ o fog st d6r
T8 TR USTERET SR TR 74T 972

it fow T forsped € HeE 30T I

(A) Hwmwefeer B) fode fear

(C) == foherm (D) TG fohett

(E) rgdia o=

Which fort has been mentioned in the inscriptions
as ‘ Suvarnagiri’?

(A) Jalore Fort (B) Jaisalmer Fort
(C) Gagron Fort (D) Jaigarh Fort
(E)  Question not attempted

fRrercrat 4 for feret o1 Seeia gauifife & am &
forrm T 22

(A) SERfear  (B) SR fFem
(C) TMRAEfRaT (D) g fohet
(E) 3qaid 9

[ Contd...
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68

69

70

Which of the following option is not a feature of

drafting package in auto CAD?

(A) Drawing utilities

(B) Edit command

(C) Dimensioning

(D) Meshing

(E)  Question not attempted

frefafad 8 & @iF 9 faseq el CAD # gifteT
Uohet T forgrwar & 22

(A) sETIRfwS (B) tfecwAie

(C) SrEmEmIHT (D) Afsm

(E) rfdia g

In a diesel engine the compression ratio in

comparison to expansion ratio is:

(A) Less (B) More
(C) Same (D) Variable
(E)  Question not attempted

STt $5T 1 ToReT ST 2l et | woie 1gurd
2

(A) HH (B) feren
(C©) waH (D) uftad=sfier
(E) Agaid %

The ratio of brake power to indicated power of an

I.C. engine is called:

(A) Mechanical efficiency

(B) Thermal efficiency

(C) Volumetric efficiency

(D) Relative efficiency

(E)  Question not attempted

et 1.C. S99 T 5% Tk SR Wkl ik
SIREINE %l el SITT &

(A) JiEEar  (B)  dTd qaar

(C) SFaAgHar (D) HTUe geram

(E) Igaid g%
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72

73

An industrial heat pump operates between the
temperature of 27°C and —13°C. The rates of heat
addition and heat rejection are 750W and 1000W,
respectively.The COP for the heat pump is:

T ST SHoAT 99 27°C 3R —13°C o ATq9H &
i1 TaTford BT 2| T SiTe 3T 36HT BigH i &
SHHRT: 750W 3T 1000W 2| ST 99 o feTg COP &:

(A) 75 (B) 6.5
(©) 4.0 (D) 3.0
(E)  Question not attempted / 3T B

Static balancing involves balancing of:

(A) Forces

(B) Couples

(C) Masses

(D) Forces and Couples both

(E)  Question not attempted

Tfereh Hqer | ffeiad &1 dqe i &
(A) ®) I

(C) FuH (D) o ST IH ST
(E)  3gaid 9%

The energy transfer process is

(A) continuous in a reciprocating compressor
and intermittent in an axial compressor .

(B) continuous in an axial compressor and
intermittent in a reciprocating compressor.

(C) continuous in both reciprocating and axial
COMpressor.

(D) intermittent in both reciprocating and axial
COMpressor.

(E)  Question not attempted

St TR SfshaT B
(A)  geamTTH e | fiaw 3R o7efiT e o
S IRIRED

(B) el e | faiat 3t g gdtes o
I DED
(C)  JcATTHY 37 3efr wdffea T o ey
(D)  YATTHY 37 7efiT wfieeh ST | SATafieh|
(E) aid 9
[ Contd...
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74

75

76

A gas turbine develops 120 kJ of work, while the
compressor absorbs 60 kJ of work and the heat
supplied is 200 kJ .Thermal efficiency of the
cycle is:

T 9 @ 120 kI S {GeRfid s 8, e
HIGT 60 kJ HT BT ST HLAT & 3 oA T
ATafd 200 k61 7TE B =5 T ST AT B -

(A)  20% (B) 40%

©) 30% (D) 50%

(E)  Question not attempted / ﬂaﬂﬁﬁ Iq

Which of the following world Heritage sites is
from Rajasthan?

(A)
(B)
©)
(D)
(E)  Question not attempted

frafaftad & 8 b a1 fog oie wd TS 8 22
(A) TITRIA feret

(B) TSR ITeX

© wiufa

(D)  THTY T HHIT

(E) gaid

Gagron Fort
Dholavira City
Sun Temple

Humayun’s Tomb

Which temple is dedicated to Lord Shiva are
described as shining like red ruby and are located
35 kms away from a town in the Thar desert ?
(A)
(B)
©
(D)
(E)  Question not attempted

WIaH 39 st Tafdd ®F |1 w5f dre wiren hi
T =IHET GAT T T & ST A e 7 T
TETH 35 fopeariet gt ford 27

(A) T wfeart |fet

(B) ferug Hfex

(C) THE Wi < HiT

(D) T HfeT

(E) Igaid g

Rani Bhatiyani Temple
Temples of Kiradu
Ramgarh Bhand Devra Temple

Ganga mandir
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78

79

Which type of gears are used for shaft axes having
an offset?

(A)
(B)
©)
(D)
(E)
SATHUE T MY 37871 o foTw ford Tavm & fiT a1
ST FoRaT STl 82

A)  frefirr

(B) TS dad fiRR

(C) er3uTse firr

(D) S firR

(E) 31qaid 9%

Mitre gears
Spiral bevel gears
Hypoid gears
Zerol gears

Question not attempted

The contact ratio of gears is always :

(A) B) =1.0

(©) D) 0

(E)  Question not attempted / ag?rﬁ?f 949

>1.0
<1.0

A uniform disc of 50 kg mass and 800 mm
diameter is mounted on a shaft .The plane of the
disc is not perfectly at right angles to the axis of
the shaft but has an error of 1.5° Determine the
gyroscopic couple acting on the bearing if the
shaft rotates at 840 rpm.

50 forum geam K 800 feft =& <t ok WA
foren s e W ot g% 2l feveh o qet e
&l % U T YHaRIN T AL &, WAferT gad 1.50
e 31 AT T 840 rpm T FHAT 2, A1 forfar W

[ERINISEIRUSIRE R E AR VTS

(A) 7744sin 3° (B) 7744 sin 1.5°
(C) 7744 cos 3° (D) 7744 cos 1.5°
(E)  Question not attempted / ﬂ@ﬁﬁ?r RES

[ Contd...
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80

81

82

The point of contraflexure lies where

(A) shear force changes its sign

(B) bending moment is zero or changes its sign

(C)  shear force is zero

(D) bending moment is maximum

(E)  Question not attempted

(A) AT o AT Foeg Teerar @

(B) e ST YT BIAT € AT IAUAT foreg srererar
B

(C) wied I ear g

(D) ek STt ATrhae giaT &

(E) SIfaia

The equivalent moment of inertia of the cross

section in terms of timber of a flitched beam

made up of steel and timber is (modular ratio,
E

m= f‘z)

e IR fomar & & fieree o o fomr o devi o

HTH YR ol AT SIScdl TV (HISTeR 1T,
E
—s

I
m
A) L+ ]_s B L+ ES
(C) Li+mis D) I, +2ml,
(E)  Question not attempted / aaﬁﬁ?f Iq

Ratio of maximum shear stress to the average
shear stress in a rectangular beam subjected to
torsion is .

ST o 3Tl Teh STRIATeT o1 7 STfershad Sferet
[EICE G LRI REREEIERC I EEIT] 2l
(A) (B)
<€ 2 (D)
(E)  Question not attempted / ?ﬂﬁﬁﬁ e

1.2 1.5

2.5
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84

85

Name the ‘Hero of Haifa’. (Choose the most

appropriate option from below)

(A) Major Dalpat Singh

(B) Major Shaitan Singh

(C) Brigadier Sawai Bhawanisingh
(D) Hari Singh

(E)  Question not attempted
“BT3%I o S T A1 sarsy) (T & & 9ot 39
foreea =)

(A) WS Teud fbE

(B) TSR IAM fUE

(C) fomifem warg war fEig

(D) =ftfds

(E)  3gaild o=

Which of the following is not a part of historical
Braj region of Rajasthan? (Choose the most

appropriate option from below)

(A) Bundi

(B) Sawai Madhopur

(C) Karauli

(D) Bharatpur

(E)  Question not attempted
FFATARE & & i TS o LT 5I5T &1 1
fea 72 22 (F 7 @ wodt 3w forshew =)

(A) o (B) @S ATEIR

(C) et (D) WAE

(E)  Ffdita =1

In a reciprocating Air compressor, as the

clearance volume increases:

(A) Work of compression increases
(B) Amount of air delivered increases
(C)  Volumetric efficiency increases
(D) Amount of air delivered decreases
(E)  Question not attempted

LUWIR(ET T YT §, S-S AUt 3T
ECRS

(A) e 1 % Sear g
(B)  foafia gar i A st ®
(C) dfcufee aamar aadt &
(D) Toafed gar i 7T gedt &
(E)  3rfmild o=
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86

87

88

The efficiency of jet engine is higher at:

(A) high speed and high altitudes

(B) low speed and low altitudes
(C)  high altitudes and low speed
(D) atall altitudes

(E)  Question not attempted

SIZ $5I <hT G&TAT 3TTerh Bl &:

(A) ITF IR 3T 3=d 3918 W
(B)  &HH T 3R fy S=mE @

(C) I FamR R fa
D) T FEEw

() gaid s

In impulse turbine the degree of reaction is equal

to:

(A) Zero (B) One

(C) Two (D) Three

(E)  Question not attempted

ST TS § SATsRAT 3T Fetlt Ser e &
(A) A B) T

(C) = (D) =

(E) Srgaid o=

The effect of regeneration on gas turbine cycle is:

(A) Work output increases

(B) Work output decreases

(C) Work output first increases then decreases
(D) Efficiency of the cycle increases
(E)  Question not attempted

9 LSS =05k TSR o T979 9

(A) 1 IcdTET TGaT R

(B) M IcqTEH T2AT R

(C) o 3cUTEH et ST & fhT Fear &
(D) =I5k ST g&7dT TgdT &

(E) Srgaiaug
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90

91

The shear stress on the principal plane:

T, T Ty T, Ty
A -5 ® —>
€ 1,t7 y (D) Zero
(E)  Question not attempted
T qel T Aldele .

T,.1t1 T,—1
A —5— B) —5—
©  t,t1, (D) WA
(E) oIgaid

A simply supported beam has a distributed load
of linearly varying intensity with zero at one end
to w per unit run at the other end. The value of

maximum bending moment is:

Tk TR G o0 # 1Raeh §9 § agad! diear
1 ferafed Wi Erar 2, feH T s w a1 3t gat
B T 31 T w EIdT 2| SAfeehad siehT A0
HTHH 2:

(A) wi* (B) wi?
8 93
© 2 o 2
4 4

(E)  Question not attempted / 3T B

In a condenser ,water enters at 30°C and flows at
the rate 1500 kg/hr.The condensing steam is at a
temperature of 120°C and cooling water leaves
the condenser at 80°C, specific heat of water is
4.187 kJ/kgK. If the overall heat transfer
coefficient is 2000 W/m?K, the heat transfer area
1S :

T "UE H, 9T 30°C W WEY T § 3R
1500 kg/hr 3T 3T & &1 21 WA W9 120°C &%
ATIEH T & SR ST I 80°C T HEF b Bigarl
R, ar & faf¥te FoAT 4.187 kI/kgK R1 91 Tmyr
AT TR 07 2000 W/ m?K 8, qF Fe
TATTT & 2:

(A) 0.707 m? (B) 7.07 m?
(C) 70.7 m? (D) 141.4 m?
(E)  Question not attempted / 3T a9y
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92

93

94

95

For a current carrying wire of 20mm diameter
exposed to air (h = 20W/m?K), maximum heat

dissipation occurs when thickness of insulation

(0.5 W/mK) is :

(A) 30mm B) 25mm
(C) 20mm (D) 15mm
(E)  Question not attempted

T o "9k | 3T aTel 20 frdt = arer grreEr
AR (h = 20W/m?K) & oI, stfreraq w1 Squeas

T BIAT & ST §HIRM I HIETS (0.5 W/mK) Bt 2:
(A) 30 et (B) 25 fodt

(C) 20 fordft (D) 15 fordft

(E) i g

For laminar flow conditions the thickness of
thermal boundary layer increases with its distance

from the leading edge in proportion to:

AT Yo ol feafa o foTe ervie | e ot Aierg
3Tt FoRTL & SEehT 3 o |Ter STTAT | et &

(A) x ®) x'/?

(©) x1/3 D) x1/4
(E)  Question not attempted / ﬂﬂﬁﬁﬁ 94

Calculate the shape factor for the sphere diameter
‘d’ inside a cubical box length, | =d

Teh TR ST shl TS o 37T el o o1 “d’ o
oI 3R ohTteh ST AT R, | = d

(A) w6 B) w3
(©) 4n/3 (D) 3n2
(E)  Question not attempted / 31@?”3??1 99

Strain energy per unit volume is given by, where

1 is shear stress and G is modulus of rigidity

gf gt eTrrad faepfa et e geRr < ST 2,

STET STV Yfae © 2 qUT HINAT /Ui G 2
2 2
A 15 B) 5
217 T
© 35 ®) G
(E)  Question not attempted / Hﬂﬂf@ Iq

B129/E1] /\
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96

97

What is the maximum time limit for marriage
registration and issuance of certificate under

Rajasthan Public Service Guarantee Act-2011?

(A) 7 days (B) 10 days
(C) 15days (D) 21 days
(E)  Question not attempted

TTE Sk 9o ML SAfa9-201 1 % 984 faare
GS{iouT U JHT 9 ST i bl Iferehan gaar
AT T R?

(A) 7@ B) 10fF
(C) 15T (D) 21T
(E) 3qaid 9

The function of which of the following hydraulic
device is analogous to that of the flywheel of a

reciprocating engine and an electric storage

battery?

(A) Hydraulic ram

(B) Hydraulic accumulator
(C) Hydraulic Intensifier
(D) Hydraulic Jack

(E)  Question not attempted

frafafaa & o fra esgifaes feaga @1 wrf
TR S5 o FeATSeaol ST Seilorgeh SISt sfedt
% T 27
(A) TEeIfas W
(B)  TTEgIfersh TR
(©)  wrEgifereh Lferpr
(D)  EEgIfers Sk
(E) 3qaid 9
[ Contd...
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929

Which one of the following is correct for

hydraulic coupling?

(A) It connects two shafts rotating at about the
same speed.

(B) It connects two shaft running at different
speed.

(C) It is used to augment the torque to the
driven shatft.

(D) it is used to connect the centrifugal pump
and its electrical motor for efficient
operation.

(E)  Question not attempted

TIggifetsh sufelT o fore f=fefaa & @ =i ar aet
22

(A) I T GHM (G § FHA Tl aF M hl
e &l

(B) IE AAT-ITAT A & Tl 1A &F IMHE
et 2l

(C)  SHeHT ST H=TeTd M9 | ek sTgM o foIg
IERIEICINS

(D)  SHH! ST FIA HATTH & I F2TdT
T SR 3HehT forerd Aie il e o forg foma
ST R

(E) rgaiayg

Most unsteady heat flow occurs:

(A) Through the wall of refrigerator

(B) During annealing of castings

(C) Through the walls of a furnace

(D) Through insulated pipes carrying streams

(E)  Question not attempted

e TREeR 5T Y41 2T &

(A) ree i dar & arem o

(B) IR & THITAT & SR

(C) 9H I dani & AT o

(D) T3 I o S ATl $HIeE WIgHT o HTETH
Ll

() AJaid g%
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100

101

102

The analogy of conductivity in heat transfer to
fluid flow is:

(A)
(B)
©)
(D)
(E)
39 ATE § ST TTHIaR0T H STcishdT ol GHIT &
(A) ZIHTST

(B) sd&IEA

(C) 39l QT

(D) 59 I YUY et

(E) rfdia =

A hydraulic press has a ram of 20cm diameter

velocity of fluid

density of fluid

viscosity of fluid
dielectric constant of fluid

Question not attempted

and a plunger of Scm diameter . The force required
at the plunger to lift a weight of 16 x 10* N shall
be?

e BIESIfelsh U9 § 20 THT =18 o7 10 37T 5 qHt
ST T TS 21 16 x 10* N 37 391 33M & fow

TS W ST o T BT

(A) 256x10*N (B) 64x10*N
(C) 4x10*N (D) 1x10*N
(E)  Question not attempted / ﬂgﬂﬁﬁ Iq

Fluid flow machine are using the principle of
either (1) supplying energy to the fluid or
(2) extracting energy from the fluid.Some fluid
flow machine are combination of both (1) and (2)

they are classified as:

(A) Compressor

(B) Hydraulic turbine

(C) Torque converters

(D) Wind mills

(E)  Question not attempted

39 YaITE HRMH AT AT (1) 3 1 Sl ohl SR AT (2)
39 Sl eRTe o FHgid 1 ST & @ 8| 9
29 YaTE 9 ST (1) 3T (2) 1 HAINE €, 5% 39

EEREUIETACRIR IR
(A) I (B) ETEgIicieh 2aigd
(C) ddhdacd (D) Yo AfFRAl
(E) a9
[ Contd...
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104

105

The component of torque converter that allows

torque multiplication is:

(A) Turbine (B) Impeller

(C) Stator (D) Free wheel

(E)  Question not attempted

ek FaIeL T I B ST 2ok UM oh1 STTAN T 2
(A) edigT (B) IR

(C) ®X (D) Rredd

(E) rgaid

In a 6 x 20 wire rope , number 6 indicates the :

(A) diameter of the wire rope in mm
(B) number of strands in the wire rope
(C) number of wires

(D) gauge number of wire

(E)  Question not attempted

6 x 20 AR Tt TEHT |, AT 6 =T =0l 3T et 2
(A) R TEHt 1 o faft |

(B) R TEHT T T <l e

(C) dRi & gen

(D) AR TS G

(E) rgaid o

The principal stresses induced at a point in a
machine component made of steel 50C4 (O'yt:
460 N/mm?) are as follows: o; = 200 N/mm?2,
Gy =150 N/mm2, 63=0

Determine factor of safety by using maximum
shear stress theory.

T 50C4 (o, =460 N/mm?2) & s 72l seeh |
wF fif @ i@ g e W TR €
61 =200 N/mm2, 69 =150 N/mm?2, 63=0
ATereha st qT fgid T ST ek e
e T il

(A 1.9 B) 32
(©) 23 (D) 295
(E)  Question not attempted / 3ﬂ?|ﬁ_cf Iq

B129/E1] /\
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106

107

108

109

If a helical spring is halved in length,its spring

stiffness is:

(A) remainsame (B) halves
(C) doubles (D) triples
(E)  Question not attempted

afe wh Fefora feiT i e st & S,
THhT Tt SHardr |

(A) FE @ (B) el & STt
(©) wEEsTeh (D) o e ST
(E) Igaidwd

In a Wilson—Hartnell governor , the balls are

connected by :

(A) one spring

(B) two springs in series
(C) two springs in parallel
(D) four springs

(E)  Question not attempted

foegA-greAe Tat H, dteq FHfiad 9 e ardt
&

(A)
(B)
©
(D)
(E)

e e
gfe | 2 T
T H 2l T
= s
AN 9

For the height of a Watt’s governor is proportional
to speed (N):

TE AT T FaT8 T ™) %H’H’I@Wﬁ%
(A) 1/N? (B) N

(C) 1IN (D) N?

(E)  Question not attempted / 34@?113\?[ I4q

What is the value of pressure angle generally

used for involute gears?
YA SHaIeE fT o foTe Teeh 3Tel hivT 61 61
TR

(A) 35° B) 30°
(C) 20° (D) 15°
(E)  Question not attempted / 3T Ay

[ Contd...
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110

111

112

113

In a slider crank mechanism, the value of piston
acceleration at inner dead center (IDC) is :

T TS sheh o | STaiteh 4d @hg (IDC) W foree
T T A 2

@A) (14 %) B) (1—%)
© mi(ta) ® mPa+n
(E)  Question not attempted / 31@?1'?@ Tq

A reversed carnot cycle refrigerator maintains a
temperature of —5°C.The ambient air temperature
is 35°C.The heat gained by the refrigerator at a
continuous rate is 2.5 kJ/sec. What will be (COP)
of refrigerator?

T I FHFIE =5k UL —5°C T ATIHM 1T
TEAT | TR AT T ATHH 35°C 21 e (i)
T IR ET ITH 36T 2.5 k/sec &1 TRsEt

T (COP) T &I
(A) 6.7 (B) 6.6
(C) 65 D) 64

(E)  Question not attempted / 311?1'&3 Tq

The air standard cycles for the same maximum
pressure and temperature and heat rejection:
AT SATThRAN T ST ATIHT T AT ST HIT
EARIEIRRIECACES

(A)

MNdual > Notto > N diesel

(B) Notto = N diesel > Ndual
©) Mdieset > Naual ™ Notto
(D) Notto ~ Ndual =~ N diesel
(E)  Question not attempted / ﬂﬂﬁ'ﬁﬁ 99

For the same compression ratio and same heat

rejection

waﬁaa@maﬂtwmmﬁr%m

(A)

Notto ~ Ndual ~ Ndiesel
(B) Ndual ™ Ndiesel ~ Notto
© Ndiesel ~ Notto ~ Ndual
(D) Notto ~ Ndiesel ~ Ndual
(E)  Question not attempted / 34?03'?{?{ BE

B129/E1] /\
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The monochromatic emissivity of a white body at

all wavelengths and temperatures is equal to-

(A) Zero (B) 0.1t00.4
(C) 0.6 D) 1
(E)  Question not attempted

v FUICEAT ST ATTHHT R T 4q I ht Thavft
IeeStehdT T B 82

(A) A (B) 0.1904
(C) 0.6 D) 1
(E) 3gaid 9=

A brick wall (k = 0.9 W/mKk) of thickness 0.18 m
separates the warm air in a room from the cold
ambient air, on a particular winter day, the outside
air temperature is —5°C and the room needs to be
maintained at 27°C.The heat transfer coefficient
associated with outside air is 20 W/m?k.
Neglecting the corrective resistance of the air

inside the room, the heat loss in (W/m?) ,is:

0.18 X HE dell Th 3¢ H AR
(k = 0.9 W/mk) Te 5L § 79 gaT &l 3t gfasft
T T ! &, Toh foRiy |fda o fam, amadt gar
T ATIHH —5°C & ST FHLHT 27°C TSI TEH Y
HTATIHAT 2| ATEL T & ST FHSHT LI Torieh
20 W/m’k 2| AL % 37eT &l o GerIcHsh e
T Y& A TT, (W/m?) H 6T BT

(A) 88 B) 110
(C) 128 (D) 160
(E)  Question not attempted / 377 e

[ Contd...
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116

117

Consider two infinitely long thin concentric tubes
of circular cross section as shown in figre. If D,
and D, are the diameters of the inner and outer

tubes respectively, then the view factor Fo, is

given by:

(E)

fomr 4 fa@e 1| IR g S 1 3t
el gl Hehfga Ffer v fomm st 3fe D3R D,
THAST: STTqie IR STl Aol o A €, a g
Fh Fy, T TR AT 7T 2

Question not attempted

Who was the founder of the Parmar Dynasty of
Abu?

(A) Utpalraj (B) Dhumraj
(C) Mulraj (D) Ajayraj
(E)  Question not attempted

TS o TR AR hT HEATIH i AT
(A) 3SHHS (B) gHUS
(C©) HAUS (D) SO
() 3Iqaid o

B129/E1] /\
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119

120

Ashokan Bhabhru inscription, found in

is considered to be the most authentic document
attesting Ashoka being a Buddhist.

Choose the most appropriate answer from the

options given below.

(A) Balathal (B) Bairath
(C) Baror (D) Tilwara
(E)  Question not attempted
ERRIRRICNIE I EFANGISICRERICT
% WG BN T e YTHTIT STt HTHT ST 2
et o T forehedl 7 & Hed SR ST |
(A) ST (B) W3
(C) R (D) fereramer
(E)  3gaild o=

The founder of the Chauhan Dynasty of the
Ranthambhore is
Choose the most appropriate answer from the

options given below.

(A) Arnoraj (B) Ajayraj

(C) Govindraj (D) Vigrahraj IV

(E)  Question not attempted

TOTHTE o <A SIS o eI 2
it fow T foreredt # @ werE SWIh 3T |

(A) TS (B) RN

(C) Tifders (D) foreus =iqed

(E) 31gaid o

Which great hero’s character has been described
in these lines, “Pag Pag bhamya pahar, Dhra
chhod rakhyo dharam// Maharana Mewar, Hridai
Basya Hind re “?

(A) Maharana Uday Singh
(B) Man Singh

(C) Maharana Pratap

(D) Pathan Behlol Khan
(E)  Question not attempted

T 9T R U, O DS WAT S //HERI0T HaTs,
59 99 fee U o ufvrat 0 forg wem i & afer
ST ol foram T 29

(A) e 3ed fiiE (B) WHEE
(C) WERWMYda™ (D) Y3H &l @i
(E) 3gaid o=

[ Contd...
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1

Short-circuit test on a transformer cannot be used
to determine .

(A) Full load copper losses

(B) Equivalent resistance and reactance
(C) Core losses

(D) Regulation

(E)  Question not attempted

TR 9T YiTe - fehe Ttequr st U=
feifed st o foTe 2t foram ST wefat 2

(A) IO TS qfe T AT

(B) @HIH Wialrd ST wfcerd

(C) HR eI
(D) fafmw
(E) 3rgafd 9

Given below are two statements:

Statement I: In case of 3-phase Induction motor,
stator and rotor fields are stationary with respect
to each other at all possible rotor speeds.
Statement II: Maximum torque is proportional
to the supply voltage in case of 3 phase induction
motors.

In the light of the above statements, choose the
correct answer from the options given below

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is true and Statement II is false
(D) Statement I is false but statement II is true
(E)  Question not attempted

YA 1: 3-WsT SSHH I o A §, T HRT U
&t aft FuTford T TIfd o U gut & welg  feR
24 &l

HAT 11 3 Tl 3239 HIL S HIHA § STferehdd 2ieh
AT Aleest o GHIATAT BT 8

IUh AT o AT |, =t few e fevedt & &
(A) T 3 HI 11 ST T &

(B) Y I 3T e 11 24T 1T &

(C) 19 8 IR FH 11 38§

(D) YT 1 3T 8 AT I 11 6T 7

() qaid
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Match List I with List II:
List I (Machine
component)

List II (Functions)
a. Damper Winding I. Used in synchronous
motor to provide
starting torque
b. Interpole Winding II. Used to short circuit
rotor bars of cage type
induction motor
c. Endring 1. Used in dc generator
to neutralize the
reactance voltage and
cross magnetizing
effect of armature
reaction
IV.Used to protect
transformers from

d. Conservator

damage when oil
expands due to rise in
temperature

T 1! =i 116 afod i
et [ (Wefi ueeh) et 11 ()

a. ST ATEfeT 1. fshig Hies o wfén
3T YeH A & fow
ORI faRaT ST 21

11. oS 2139 S8R HI %
T IR T 7S Tk
T o fore 3w foma
ST 2l

11 3TTH=R gfafsram o
ey diees wd |
TSI Rl ST
F o foTT St ST
T SURINT R STt B

IV A9 & gfg o R0
A o el UL ZHHTEHT
I THAH ¥ S %
fore suiT ferarm ST R

Choose the correct answer from the options given

b. eI ATERET

c. Ggfm

d. wsdet

below:
< o T ferpent & e e
(A) a-L, b-III, c-1V, d-1T
(B)  a-I, b-1I1, c-II, d-IV
(C) a-ll, b-I, c-II, d-1V
(D)  a-IV, b-TII, c-I1, d-1
(E)  Question not attempted / ﬂaﬁﬁ?r 99
[ Contd...
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In Rajasthan, mixed Autumn Forests and Dhokra
Forests are part of :

Choose the most appropriate answer from the
options given below.

(A) Subtropical Hill Forests

(B) Tropical/Dry Deciduous forests

(C) Tropical Thorn Forests

(D) Evergreen Forests

(E)  Question not attempted

TSTET | Ui we g o ST Sl o forehr
fewar &2

et faw T forshedt # & WerE ST I A

(A) USSR veret a9

(B)  SWreh(aefial/3Tseh uTdTdT o

(C) SWhidH T FHigR a7

(D) WEEER A

(E) Agaidwd

Which of the following Wildlife Sanctury is
located in Bharatpur area of Rajasthan?

(A) RamgarhVisdhari

(B) Bandh Baretha

(C) Ramsagar

(D) Nahargarh

(E)  Question not attempted

fafafad 0 9 o 91 3319 ST TSEH &

WAL &1 4 TR 22
(A) THTgfawead  (B) g aEr
(C) THETR (D) HTEUTE
(E) i g

What is the negative impact of Indira Gandhi

canal in Rajasthan?

(A) Reducing the wind erosion

(B) Waterlogging

(C) Availability of soil moisture for long
period

(D) Afforestation

(E)  Question not attempted

TS | a0 et 8L T Tohiiedeh T 3T &2

(A) IR STITEH I FHH FHAT

(B) YA

(C) THt o o Tm ek TH <l SuTsaar

(D) S

(E) Srfaiaud
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Irrigation plays an important role in agriculture.
Exploitation of underground water, non-
maintenance of ancient water conservation
methods and deforestation in Rajasthan have led
to:

Choose the most appropriate answer from the
options given below.

(A) Land slide (B) Air pollution

(C) Drought (D)  Scarcity of fodder
(E)  Question not attempted

TE=TS 1Y W Wecaqu fieh (T 81 i STt
3Ye, T ot TRET TR ST SR 7
T TIEIT & 1 ST TS F HOT 39 & e o
fafisa= g &

ﬁ%ﬁqwﬁmﬁﬁwﬁmwaﬁl
(A) fFEed (B) SN
(C) @ (D) =R AT HH
(E) rfdita =

According the provisions of the Protection of
Human Rights (Amendment) Act-2006, The
State Human Rights Commission of Rajasthan is
a multimember body consisting of:

(A) A Chairperson and five Members

(B) A Chairperson and six Members

(C) A Chairperson and one Member

(D) A Chairperson and two Members

(E)  Question not attempted

HHETRR G0 (W3Med)  AMRHR—m-2006 &
TEEMT % STER TSEAH H T HHATEHRT
SR G a%ﬂavﬂw freprar 2, fore wmfirer 2

(A) T TETeT 39K Ui wee

(B) U 3Teqe 3N O UL

(C) Ueh 3TeeT 3N Tk TaeT

(D) Ueh 78T 3N & gaeT

(E) 31 9%

Who among the following was appointed as chief
Information Commissioner of Rajasthan on
9 July, 2024?

(A)  Shri Suresh Chand Gupta

(B)  Shri Mohan Lal Lather

(C)  Shri Tecka Ram Sharma

(D)  Shri Mahendra Kumar Parakh

(E)  Question not attempted

TR W 8 TSTET o 9T {1 TR & §q

9 IS, 2024 aﬁ%ﬁ?ﬁ%mw o
(A) o T =% T
(B)  #ft He ATt oeT
(C) it ehr T Il
(D)  # #eg FHRL URE
(E)  3fild 9%
[ Contd...
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10  The State Election Commission (SEC) Rajasthan | 12~ The Z-parameters of network shown in figure is

was constituted under which Article of the

Constitution of India? o o ferame u Feaeh w1 Z-GaHieT H|

TSTEA ST TH1E SR (SEC) T 137 AR 200
. 1, 10Q
e % forer 3tg=ese o ded forarm T o L e m
(A)  239A (B) 241
I
(C) 240 (D) 243K 2150 O
(E)  Question not attempted / 31@?1'?@ Iq

11  Given below are two statement : (A) :8 ;2
Statement I: If network function having multiple 40 35
poles at origin of S-plane, system will be called (B) 15 35
marginally stable system. :10 15:
Statement II: The necessary and sufficient © 115 20]
condition for the system to be stable is that all [10.57 0.34
roots of characteristic equation of the system lie ®) [ 0.34 26.00
in the negative half of S-plane (E)  Question not attempted / ﬂﬂﬁﬁﬁ Rl

In the light of the above state ments, choose the

correct answer from the options given below

1 Th i f an isol here of radi
(A) Both Statement I and Statement II are true 3 ¢ capacitance of an isolated sphere of radius

2cm is:

2 Y I3 aTet Tah 9T Tt i STiaT 38T g

(B) Both Statement I and Statement II are false

(C) Statement I is true but Statement II is false

(D) Statement I is false but Statement II is true (A) L1lpF (B) 2.22pF

(E)  Question not attempted (C) IF (D) 0.55pF

= g e : E) Question not attempted / ITIT T
T 3

A I: IS Teaeh v | S o el H 3 g4 3,
T foree &1 Hiia w9 ¥ feer foeem et smom) 14  Udaipur is mainly known for the production

HAA 11: Toeen % for 8 & foT stmavae e establishment of:

T 37 e € Tob fereaw o srfretmerforss wefientor bt (A) CopperPlant (B) Granite

Gt T S~ o FRITcHe AT Wi H Feore | (C) Silver (D) Zinc Smelter
Wm%mﬁa Frer fer e ferepet & & e (E)  Question not attempted

ST ST T w ¥ Freffad ¥ I e &
(A) U1 IR FIA 113 7 & Foqe ST ST

(B) Y I 3T e 11 24T 1T &
(C) T [ 6 & ek o 11 376 &
(D) YA 1 3T B AT I 11 6T 7
(E) Igaid g%
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(A)  dfeT (B) IATEC
(C) =it (D) TN& we
(E) 3rfmild o=
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16

17

18

Which of the following is not a three tier
Panchayati Raj system institution in Rajasthan?

(A) Gram Panchayat

(B) Panchayat Samities

(C) Zila Parishads

(D) Zila Samities

(E)  Question not attempted

ffafad § @ T9eI 7 &9 o ger Gy
T U SaeT TR 82

(A) U Y= (B) d=ma wfufaert

(C) foremafesd (D) fsrerm afufaat

(E) Aqaid o

The 74™ Constitutional Amendment empowered
Urban Local Bodies (ULBs) to perform how
many functions listed in the 12" schedule?

743 Gfererm wme 3 3red v e (ULB) &
1281 Sre=t o gefierg fopd SRl ST 1 AR
fem

(A) 25 (B) 24
(©) 18 (D) 15
(E)  Question not attempted / ﬂaﬁﬁ?‘f 99

The Lokayukta is appointed by -

(A) The Chief Minister

(B) The Governor

(C) The Chief Justice of the State High Court
(D) The Leader of Opposition

(E)  Question not attempted

FArehTh i ffr fferfiad gro &t <t 2:
(A) TEI

(B) TsIUTeT

(C) TS 3= AT & & AT
(D)  foaer &1 3ar

(E) gaidud

The glory of which folk deity is told through a
scroll called “Phad” ?

(A) Ramdeviji (B) Gogaji
(C) Pabuji (D) Tejaji
(E)  Question not attempted

“hg” AT T o ATeAH § fohg Wik dadr i
TiRHT TS TS 22

(A) TESEST (B) TS
(C) TSt (D) dSTSiY
(E) a9
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19

20

21

Which one of the following is not a famous
handicraft work from Rajasthan ?

Choose the most appropriate option from below:
(A) Thewa Gold Leaf Work

(B) Dolls of Krishnanagar

(C) Bhandhani

(D) Blue Glazed Pottery

(E)  Question not attempted

fafaRad & & F-81 TSeIH #1 T4 i
e TE &2

T 4 & w3 forshed

(A) ST Tiee ofie T

(B) U I Tfeand

(C) SreT

(D) eft smehrelt firgh & ard

(E) rfdia o=

Historical tradition of Rajasthani Literature is
divided ‘Period” .Arrange them
chronologically according to ‘trend’.
a. Period representing diverse tendencies and
rise of new genre.
b. Veergatha Period
c. Shringar, Riti and Niti Period
Bhakti Period
rﬁmmﬁ Hifecd i e WU 9/ Herder §
TorTfSre 1 378 TeTsh e el o STTar safterd
By
0. fafore sl s fremsit 3 vew A awy

into four

ATAT AL S|
b. ST e
d.  Hfe
Choose the most appropriate option from below:
T 1 @ werd 3ugh foshed 4
(A) a,b,c,d (B) d,a,b,c
(C) b,d,c,a (D) c¢c,d,ab
(E)  Question not attempted / 31@?!‘?{?{ Iq

‘Where do women wear ¢ Kardhani’ ?

(A) Around the neck

(B) Around the waist

(C) Inthe ears

(D)  On the head

(E)  Question not attempted
ARATE AT T Tedl a2

(A) TAH (B) FWH
(C) &HHIH (D) R
(E) 3gaid 9

[ Contd...
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24

Who among the following founded Mewar State
Prajamandal? (Choose the most appropriate
option from below)

(A)
(B)
©)

Vasudev Balwant

Manikya Lal Verma
Vasudeo Hari Chapekar

(D) Madan Lal Dhingra

(E)  Question not attempted
FATIRad & & HaTS TST SSTHSH oh EATIT Fohe
17 (7 o & HeE ST faehed o)
(A) IS T

(B)  TTfUTeRT ATt ot

(C)  aged B =TT

(D) & T SITRT

(E) SIfaia

Which of the following not joined Greater
Rajasthan in fourth stage (on 30-March-1949)?

(A) Bikaner (B) Jaisalmer

(C)  Jodhpur (D) Alwar

(E)  Question not attempted

ffeiad & 9 i =T =X (30 #14 1949) | 988
TSTET | MIHe TEl g1

(A) SRET (B) SEAWR

(C) Siug (D) AR

(E) Igaid o=

A coil of 300 turns is wound on a non-magnetic
core having a mean circumference of 300mm and
a cross-sectional area of 300 mm?. The inductance
of the coil corresponding to a magnetizing current
of 3A will be,

(Given that py=4nx10"" Hjm)

300 HIST ATl T FEell Teh TR-aehid it T U]
TS 2, formefr sfraa afefyr 300 firdt 3 sy #1e
T & 300 Tt 81 3A 3 S[ershi aT o STET

ST BT Sehcd BIT:

@ py=4nx10"" Him)

(A) 37.68uH (B) 113.04tH
(C) 3.768nH (D) 1.1304 nH
(E)  Question not attempted / 34333'?{?{ Iq

B129/E1] /\
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26

Match List I with List IT :
=it 1! =i 118 gaferd L :

List I

a. Input Impedance

of lossy line

b. Input Impedance
of lossless line

c. Input Impedance
of lossy line with
o.c. load

d. Input Impedance
of lossy line with

shorted line

List IT
ZL+ZO tanhyl}

L 7% Zy+Z; tan hyl

2|7, %/Z, tanpi

1. Zy cot h (B/)

IV. Z, tan h(B)

Tt 1 T 11
Z; +Zytan hyl
a. aﬁiﬂfﬂﬁqiﬁ | VA W}
EERCAITCIRI
iy
b. EREA @A R IL Z, %JFJJZZ—EEIEE;
S99 WldsTe
c. TN EARAH L Z, cot 4 (B))
92 Sfaar
o.c. IS o AT
d. TS ARAFR T  1V. Z, tan h(Bl)
HIEEVKSIEE KD
TG SfdaTe
Choose the correct answer from the options given
below:
i e e ferpent B & e e
(A) a1V, b-IIL c-L, d-II
(B) a-I,b-II, c-III, d-IV
(C) a-I, b-T1, c-TV, d-TIT
(D) a-1IL, b-11, c-I, d-IV
(E)  Question not attempted / ?ﬂfﬁlﬁ?f Iq

The velocity of propagation of electromagnetic
wave on an underground cable with relative

permittivity 4 will be -
qrey forggarefierar 4 et SfTd sheret X forgaefersha
T 6 T T S B -

(A) 3x106m/s (B) 3x108m/s
(©) 15x108m/s (D) Zero
(E)  Question not attempted / ST )
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28

29

An electric circuit with 11 branches and 8 nodes

will have

(A) 4 loop equation

(B) 3 loop equation

(C) 7 loop equation

(D) 10 loop equation

(E)  Question not attempted

11 Wit Sik 8 Arew A w f o &
=)

(A) 4QUUHIRT (B) 3 9 GHIHW

(C) 7<@EHIRT (D) 10 o G

(E) qaid %

In the given lattice network, find the value of ‘R’

for the maximum power transfer to the load :

few o STedt (@ifem) e 1, Are i 1fersan ke
FEJTUT o fTT R’ T 0T 14 L -

7Q
AW
6Q
AWW
90

(A) 50 B) 650
€ 8Q D) 90
(E)  Question not attempted / SITATT T4

The current i1(t) under steady state is,

fRor stz § ami(n) B,

10 2H

1 i(t)
S5V= 1F
+
10 sin(wt) _%@ —’7

Assume ® =1 rad/sec

T o =1 EHHe
(A) 0

B) 5

(C)  7.07sin(t)

(D)  7.07sin(t — 45°)

(E)  Question not attempted / 34'@'&?[ 99

B129/E1] /\
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The river falls into the Gulf of Kutch
(Kachchh) and, the

Gulf of Khambhat on way to falling into the

river falls into the

Arabian sea.
Choose the most appropriate answer from the

options given below:

(A) Banas and Chambal
(B) Jhakam and Banas
(C) Luni and Tapi
(D) Luni and Mahi
(E)  Question not attempted
T Fes A @ A et et
T 3T GR | I o TEd |, T T
@t 7 iRt 2|
e fow T forehed # @ Hae ST ST |
(A) & AR dae
(B) & 3R T
(C) Tt i ardt
(D) <At SRATER
(E) rgdia g

Which of the following factor does not determine
the climate of Rajasthan? (Choose the most

appropriate option from below)

(A) Latitudinal position
(B) Distance from the sea
(C) Longitudinal position
(D) Land structure

(E)  Question not attempted

fefafiad § 9 =9 |1 e TS i Sy
frertfed & sRear? (1 3 8 el Suh faehed =)
(A)  srearefr feurfa
B) WA
(C) euriari feufa
(D) ¥ &=
(E) a9
[ Contd...
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34

Which of the following statement is correct about
laterite soil in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) 1t is formed by the crystalline and
metamorphic rocks.

(B) It is found in western desert region of
Rajasthan.

(C) It looks black due to presence of iron.

(D) It contains enough quantity of nitrogen.

(E)  Question not attempted

TTE | Aetrse it & s A frefafad 7 8 i
T HIT T 22

=t fa T foreredt 7 @ weE SWIh 3T :

(A) ¥ foreeeta 3R Fmriafa 9T & st 2
(B) ¥E USEYM o Uiyt Wt & 7 urg
ST 21

T8 IR ot Uk 3 ST shredt feadt 21
TOH 132N <hl Y18 9T Bt 2
AR 9%

©
(D)
(E)

The time of operation of a relay for TMS = 01 is
5 seconds, then time of operation for TMS = 0.4

will be

(A) 12.5seconds (B) 2.0 seconds
(C) 25 seconds (D) 4.0 seconds
(E)  Question not attempted

TMS = 01 & foTu fiet 1 gt 1 993 5 gehe B,
@ TMS = 0.4 & T g=met &1 a3 g

(A) 125T%s (B) 2.09%s
(C) 25¥%hs (D) 4.09%s
(E) SIgaia

Which of the following is correct for symmetrical

components?

A et o e Fefafad 3§ @ & a1 98 22

(A [Vape] = 14T [Pa]

@) [Vasel =514 Vool

©  [Viz0]=[41[Vane]

©  [ool =4 Pane]

(E)  Question not attempted / ﬂ@ﬁﬁﬁ LS

B129/E1] /\
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Zero sequence current is absent in a sequence
network drawn for:

(A) LG fault (B) LL fault

(C) LLG fault (D) LLLG fault

(E)  Question not attempted

[ ITTRA ORT U STRA Aeadh § STURd 2,
IECERCIRINERIRID K

(A) TASHA

(B) TATAREN

(C) TATASEN

(D) U TS T ST aY

(E) 1gaid 9%

Match List I and List II:
List I
(Type of conversion)

a. ACto Rippled L
DC converter

b. DC to variable 1L
DC converter

c. DCto AC
converter

d. AC at some
frequency to AC

List IT
(Device)
Chopper
Inverter
III. Rectifier

IV. Cycloconverter

some other frequency

converter
=it 1 ST 11 % e &t
Tt 1 il
(EUT=RUT o TehK) ()
a. ACHfues [ =W
DC Fa
b. DC ¥ i I 3=
DC &t
c. DCHACHFEX I IFRERR
d. FBAERMWAC V. HEFAIHAN
IR ToRdT 3=
FER |AC 91T
FHAR
Choose the correct answer from the options given
below:
AP o Fee & el T

(A) a-1V, b-1, c-II, d-1T1
(B) a-IIT, b-IV, c-I, d-1T
(C) a-II, b-II1, c-1V, d-1
(D) a-III, b-1, c-II, d-IV
(E)  Question not attempted / 31':!3?'?{?[ Iq
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For a diode, reverse recovery time is defined as
the time between the instant diode current
becomes zero and the instant reverse recovery

current decays to -

(A) Zero

(B)  10% of reverse peak current
(C)  15% of reverse peak current
(D) 25% of reverse peak current
(E)  Question not attempted

TEE & fou, fiad gt aqg Sl S gRT F &I |
qfeATIG foRarT STTT € ST SIS e 3 & ST @
31t frad et hie w7 & ST @

(A) A

(B) Tad i w1 10%

(C) Tt ot e #115%

(D) e dish iz &1 25%

() 3raid 9

In a single-phase full converter bridge with

inductive load, the average output voltage is

given by -
SIfOTeh W STel Tehed =0T QO shaldt foisf #, ST
ATITYL e e Tehme fea smar &
(A) Tm(l-i—cosa)
2
B) — (I+cosa)
Vm
(©) . cosa
2
(D) T cosa

(E)  Question not attempted / Gﬂﬁﬁ?r 99

B129/E1] /\
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Match List I and List II :
List I (Quantity)
a. Magnetic field

List IT (Unit)
I. Tesla
strength

b. Magnetic flux II. Ampere turn/meter

c. Magnetic flux 1. Weber
density
d. Reluctance IV.Ampere turn/weber
=it 1 ST 11 e &t
e 1 @ T 1 (3%T9)
a. %\[W?ﬁ'q SERI LN e
b. ek FfEE 1L U e
(o)
c. Trhig AR LA
Ydcd

d. wfqeey (faged) TV .Ufeqer 2/ Ja

Choose the correct answer from the options given

below:

<A o e et B & e S

(A) a-,b-II, c-III, d-TV

(B) a-IT, b-I11, c-I, d-IV

(C) a-I1,b-1V, c-I11, d-1

(D) a-III, b-11, c-1V, d-1

(E)  Question not attempted / agﬂﬁ?f BE)

Resistance of the insulating material is normally
measured in - (Choose the most appropriate

option from below)

(A)  kQ (kilo ohm)

(B) M (Mega ohm)

(C©) mQ (milli ohm)

(D) Q (ohm)

(E)  Question not attempted

AT wft oy Sy W H AT

STt 21 (T 5 & e 9 forehed o)

(A)  kQ (fehefl 37m)
(B) MQ (HTT 37m)
(C) mQ (foreft 3mm)
(D) Q (31m)

(E) aid 9
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43

In context of display, LCD refers to:

(A) Light Crystal Displays
(B) Light Crystal Diodes
(C) Liquid Crystal Displays
(D) Liquid Crystal Diodes
(E)  Question not attempted
feeeet & wavl #, TaHiel & are 2
(A) e fopeee feomt

(B) d3e fopked eI

(€) fafree freea ferm
(D) fafree e srne
(E) 3rgaid 9

A data signal having frequency components from
dcto 1 kHz s to be transmitted using a modulation
method. Minimum bandwidth of carrier channel

required with amplitude modulationis

dcﬁlkHzW%ﬁWWéﬂﬁ?ﬁaﬁ
HgIe fafer 1 SWITT otk Ifva foram ST 2
AT AISICIRH & HTY HATGIF a6 o i

(A) 5kHz (B) 10kHz
(C) 2kHz (D) 4kHz
(E)  Question not attempted / ?ﬂﬁﬁﬁ 94

A properly biased JFET act as

(A) Voltage-controlled current source
(B) Voltage-controlled voltage source
(C) Current-controlled current source
(D) Current-controlled voltage source
(E)  Question not attempted
3fed &9 § ST JFET 9 i LT 27
(A) drees-fEta i gra

(B) dlces-fata atees |

(C) wie bk s e

(D) e -fEta diees Fia

(E) Srgaiaug

B129/E1] /\
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The value of total collector current in a common-
base circuit is expressed as:

T I TR qiae H ol HUTeeh 9 i 56

ThTE SAfHER foRaT ST 2:

A IL=ol,-1If

B IL=oalgp+tl,

©C IL=olg

D) 1.=BIg

(E)  Question not attempted / 3T Ty

Given below two statements:

Statement I: BJT cannot be used as switch if AC
supply is applied across any two terminals of
BIT.

Statement II: BJT can be used as Amplifier.

In the light of the above statements, choose the
correct answer from the options given below

(A) Both Statement I and Statement II are true
(B) Both statement I and statement II are false
(C) Statement I is true but statement II is false
(D) Statement I is false but Statement II is true
(E)  Question not attempted

= & s feg o 2:

HAT I: IS BIT % fobeel a1 el W AC Smgfd
mﬁaﬁ%aﬁBJTwmﬂﬁaaéswﬁTsﬁ
%mmml

HUA 1: BIT T TIATHRR & &9 H ST foham <
THhare |

ST Al & ATl H, A e T faepedt §

(A) 1 ST HIA 11341 Hed &

(B) o I 3T HAA 11 3T 19T &
(C) YT 1A 8 Aok o 11 3T &
(D) YT 1 3TE B Afehd T [1 T &
(E) 3gaid 9%

river of Rajasthan flows for 12 months
of the year. (Choose the most appropriate answer
from the options given below)

(A) Chambal (B) Banas
(C) Mahi (D) Sambhar
(E)  Question not attempted
TS <l i ©Y T2 a9 & 12 7e segdt 22 (=
faw T forepedt H | G 3Uh I )
(A) =5 B) &
(C) W (D) |PR
(E) Srgafaus
[ Contd...
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49

In 15" century, Paliwal Brahmins of Jaisalmer
used technical knowledge to construct water
management resources called,

(A) Khadin (B) Jhalar
(C) Tanka (D) Beri
(E)  Question not attempted

15901 STdTsdt § STETHT o YTelidTel ST 3 e eh!
T T SYFNT o ST e STt ohT fAmior fapa,

o= T ST 2

A GIH (B) "R
(C) g (D) o
(E) gaidud

Which of the following National Highway passes
through the Rajasthan?

(A) National Highway No. 315
(B) National Highway No. 11
(C) National Highway No. 2
(D) National Highway No. 4

Question not attempted

ﬁtr%rﬁa?rﬁ@@?wrr@?rwﬁwmﬁ
EERIE IR,
(A) TS TSR T 315

(B) TSI TN G&AT 11
(C) TS TSHAT €& 2
(D) TSI TSHA & 4
(E) 3rafd 9

The diversity factor is defined as,

(A) Maximum demand of a group divided by
sum of individual maximum demands of a
group.

(B) Sum of individual maximum demands of a
group divided by maximum demand of a
group.

(C) Maximum demand divided by connected
load.

(D) Diversity inload factor divided by diversity
in customers.

(E)  Question not attempted

forfire=ra 7ok i 38 YRR afeTira foram a2,

(A) T8 HI ARy W I GYE I ARETd
sferepes wimit 35 2T & ferennfor fpar smaT 21

(B) WHE I AT SAfershad HIT o AT 1 GHE
1 stfrepe T & ferstr fobam < 21

(C)  3TFreha™ HiTT &l S oAle § forrfora feram
ST 2

(D) <ire %t | fafsr=ar =i areent § fafiy=rar o
forrfSra foram ST 21

(E) Srfaiaug
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Given below are two statements:

Statement I: Pin type insulators are never used
for high tension lines.

Statement II: Pin type insulators are only used
for voltage above 66kV.

In the light of the above statements, choose the
correct answer from the options given below

(A)
(B)
©)
(D)
(E)  Question not attempted

HAA I: 07 T % YA 1 STAnT ot off 3=
T AT o ToTe T foram St 2

HAA 11 TUF THR % FHIE T ITANT Haed 66kV
Y S e o TeTe fopa st 2

ST Al & ATl |, A= e T fasredt @
el W flﬁ

(A) T ST HIA 11341 HeF &

(B) A 1 3 He 11 SH1 31T &

(C) Y1 T § i & 11 3 &

(D) YA [ 3TE & AT YT [1 4T 8

(E)  3mild 9%

Both Statement I and Statement IT are true
Both statement I and Statement II are false
Statement I is true but Statement II is false

Statement I is false but Statement II is true

When a line to ground fault occurs, the current in
a faulted phase is 100 A. The zero sequence

current in this case will be -

(A) Zero (B) 333A
(C) 66.6A (D) 100 A
(E)  Question not attempted
S TS ¥ UEE $ice BT 8, I BieeS Bl H Hig
100 A AT 8] 39 HHeT H [ 3TT5HH L2 BT -
A) A (B) 33.3A
(C) 66.6A (D) 100 A
(E) orgafaus
[ Contd...
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Following table indicates the sign of elements in

first column of Routh array.

Row No. | 1 2 3 4 5
H|H[E ] =)

Sign

Choose the correct statement:

(A) The system has two poles in right half
s-plane.

(B) The system has two poles in left half
s-plane.

(C) The system has three poles in right half
s-plane.

(D) The system has two poles in right half and
three pole in left half s-plane.

(E)  Question not attempted

e anfersT & @t (Array) & Tt e  dedl
F form =1 giet 21

Uit wHB | | 2 3 4 5
fa% CORECORECORRCORNCY

Hﬁﬁﬁiﬂ:{%\lﬁ

(A) ToEH % A 1Y s H 2 ga 2

(B) Toreem o aT¢ AT s H a1 g4 &)

(C) Toree % 3rd &1 s Wl g €l

(D) Toreem o aTd S1Td H &l ¥ SRSTE 378 5ol
# d14 ga 2

(E) gaidud

The transfer function of a system is given by

foreft fireen ot giawt e faet st o wirar 2:
_ 10s +4
GE) (s+1) (s> +4s+5)

The steady-state value of step response will be:
TT YTcIfshaT T fEoR-STaree /I &

(A) 4/5 B) 5/4

<€ 4 D) 5

(E)  Question not attempted / ﬂ'ﬁﬁﬁ Ll
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For maximum efficiency, distribution transformer
have core losses:

(A)
(B)
©
D)
(E)
STfrenan gerdT fordquor & forw, g § it gt
B =TT

(A) >0 AIe R FfEt

(B) =0l @I o BTfAT

(C) <90l AIE HTW BT

(D) =0 SIS oL BT 7 1/3

(E) qaia g

>full load copper losses
= full load copper losses
< full load copper losses
= 1/3 of full load copper losses

Question not attempted

A 250/500 volts, single phase transformer gave
following test results:

Short-circuit test: 20V, 12A, 100 Watts
Open-circuit test: 250V, 1A, 80 Watts

The efficiency of the transformer when the output

is 12A, 500V at 0.85 power factor lagging is

Tah 250/500 atee, fimer et g 3 fefefaa
advegur gftomm fiu:

ite-afehe Tlear: 20V, 124, 100 91
S-Tfhe T 250V, 1A, 80 A2

el HTI2TYL 0.85 T e AT I 124, 500V,

T BT T 28T 2

(A) 96.95% B) 96.59%

(©)  96.22% (D) 97.08%

(E)  Question not attempted / 31'@'?{?[ Iq
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Who among the following was the first woman
who was arrested during freedom movement in
Rajasthan? (Choose the most appropriate option

from below)

(A) Anjana Devi Chaudhary
(B) Kaalibai

(C) Kishori Devi

(D) Janki Devi Bajaj

(E)  Question not attempted

farmfafad & 9 g i o o guw qfger of
o= e ieie & S firwar fomam mam?

(Fret & & He® ST forehed <)

(A)  SSHT < =’
(B) reiiag

(C) Torumdr et

OB EEIECIESIE]
(E) SIfaia

How many Indian states share their border with
Rajasthan?

foRa IR TS TS o |1 3791 €T |re
A 8?

A 1 B) 2

© 4 ®) 5

(E)  Question not attempted / 3'-|i|?l|?€‘l Iq
Aravalli ranges, a well known feature of

Rajasthan, runs in a direction.
Choose the most appropriate answer from the

options given below.

(A) North-West to North-East

(B) South-West to South-East

(C) North-East to South-West

(D) South-East to South-West

(E)  Question not attempted

ST TqTET, TSI T Teh Wi, forrear 2,
Kl foem & =t 2

it faw T forshedl # € HeE ST ST <+
(A) STIEHH G TS

(B)  afeaor-afsm & afgror-gd

(C) S-gd ¥ ferur-ufzm

(D) eferor-qd & ferur-afzm

(E) Igaid g%
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In LVDT, as the core is moved in one direction
form the null position, the difference of two

secondary voltages will

(A) Decrease and in-phase with source voltage

(B) Increase and in-phase with source voltage

(C) Decrease and 180° out of phase with
source voltage

(D) Increase and 180° out of phase with source
voltage

(E)  Question not attempted

LVDT #, 59 & &R & 3= fafa § ww fam d &

STTRIT ST &, & faeies atedst a1 3t

(A) GIq Al o AT T TR sl § &I

(B)  ©Id dlwes o HTY ST 37T 6T H &

(C) G aTedsT & |1 HT 37T 180° el & 1T
g

(D) GId aleesT o TTY T 7T 3 180° et H ATEL
g

(E) 3fmild o=

Nichrome used for the construction of resistance

wire strain gauges have composition:

gfaier aR a=1a 17 o fmior o fore su=T fohe S
EIREIFCALEIRSCEI

(A) Ni:50%, Cr:50%
(B)  Ni:80%, Cr:20%
(C) Ni:45%, Cr:55%
(D) Ni:70%, Cr:30%
(E)  Question not attempted / ﬂgﬂﬁﬁ BE)

Rice is grown in which of the following region of
Rajasthan? (Choose the most appropriate answer

from the options given below)

(A) Jaisalmer (B) Sriganganagar
(C) Bikaner (D) Jodhpur
(E)  Question not attempted

e & fAfafad & 9 g & § =mad s
ST 22 (= fow T foshedt § @ o IR IW

=)
(A) ST (B) TR
(C) R (D) S¥q
(E) 31qaid o
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62  Which of the following region of Rajasthan is

origin of Tharparkar breed of cow?
(A) Kota (B)
(C)  Jaisalmer (D)
(E)  Question not attempted

Bikaner
Banswara

TSIEITT T HI GT & ARATRL T6d I T

I A 32
(A) @I (B) e
(C) SHaR (D) digETer
(E) aidwd
63  Which of the following is not beneficiary area of
Indira Gandhi Canal?
(A) Barmer (B) Kota
(C) Bikaner (D) Jaisalmer

(E)  Question not attempted

ffTiad & & i $fex el 7ot o Al &

T

(A) W (B) I
(C) s (D) AR
(E) Igaid 9=

64 The reflection coefficient for the transmission

line shown in figure at point A is -

for  awii 8 ghafiee @meT % fo fig A @

T T ¢ -

Transmission Line A

Z, = Source impedance

=400 Q
(A)  +I (B_) -1
© 0 D) 05

(E)  Question not attempted / Hﬂﬁf{ﬁ 945

65  The wave equation for a conducting medium is-

Teh SITeTeh HTETH o ToTT T GeieRtur 2 -
2
)
Y 2 _
() ——1"E,=0
2
)
Y 2
(B) . -y =0
oE,
©) 5y —VE, =
oF

Y
D) —--7=0
(E)  Question not attempted / ﬂgﬁﬁﬁ LS

B129/E1] /\
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67

Which of the following fort was built by traders
Bhainsa Shah and Roda Charan to protect their
Carvan from the mountain bandits in Chittorgarh?
Choose the most-appropriate answer from the
options given below.

(A) Bhainsrorgarh Fort

(B) Chittor Fort

(C) Churu Fort

(D) Jaigarh Fort

(E)  Question not attempted

frefafad & @ =9 @1 fhar foxileme ¥ weeh
T § 7O FRAT hT T % foag st e

T8 STR USTRET SR ST 7T 972

et fow T forshedt H @ Hard 9 ST |
(A) ETTE TR

(B) ferdte foretm

(C) & fohem

(D)  SFTg feett

(E) rgdia o=

Which fort has been mentioned in the inscriptions
as ‘ Suvarnagiri’?

(A) Jalore Fort

(B) Jaisalmer Fort

(C) Gagron Fort

(D) Jaigarh Fort

(E)  Question not attempted
et # fore fopet 1 Iecr@ Gaviffe & ™ &
[ERIRIDINY

(A) SR et
(B) SHEeT feha
(C) TR ferar
(D) SR fehet
(E) 3qaid 9
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69

70

When a SCR is reverse biased, the number of

blocked pn junction is/are:

(A) One (B) Two
(C) Three (D) Four
(E)  Question not attempted

e U SCR o soe 8147 &, a1 379%g pn SR

(A) T (B) &
(€) o= (D) =
() Aqaid g

The characteristic equation of a control system is
given by:

TRI=TOT STt ohT SATTATTIOTeh S TeRToT 36 ekt foa
TR

q(s) = s(s+4)(s2+2s+s) + k(st1) =0

The angle of asymptotes for the root locus for
k=0 are -

k>0 % fore 7t formgurer o fore sriaeasft shior € -

(A) 060°, 180°, 300°

(B) 0°,180°, 300°

(C) 120°, 180°, 240°

(D) 0°,120°, 240°

(E)  Question not attempted / aa?lﬁ?f Iq

In a system, the damping coefficient is &€ =—1.

The system response is -

(A) Undamped

(B) Underdamped

(C) Critically damped

(D) Oscillation with increasing magnitude
(E)  Question not attempted

e FoEeH H, STaHE Urie ¢ = 1 ) fereen wfafsmar
2-
(A)
(B)
©)
(D)
(E)

SraHfeq T

F Tl

T &9 ¥ Aaufeq
SE&d ICHTOT o Y S
T 74
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72

73

The transfer function for the given circuit is:

T fou 7T 31Tg o TIT TIHTaoT o 2
R1Q
AWWA
R2Q
Vi (S) L Vo (S)
T«
v,(8)  1+5CRy
®) v, (s) _ 1 +sCRy
v,(s)  RytsC
©  3® TR IR TsC
v,(s) 1+Ry
D) & "TTR R, 1sC
(E)  Question not attempted / 31@?1?{?[ BE)

Symbol for current gain of BJT in common base

configuration is:

IV TR fo=me § BIT & 910 T & Tdieh 2

(A) «a ®) B
C) v D) (o)
(E)  Question not attempted / ﬂgﬂﬁﬁ 99

Level shifter circuits are also known as:

(A) Clamper circuits

(B) Clipper circuits

(C) Transistor

(D) Biased circuits

(E)  Question not attempted

aet fareex afdhe st 3 A & off ST ST 2
(A) FvRElhe (B) framafde
(C) gifSrEex (D) TS "idhe
(E) 3rfmild o=

[ Contd...
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75

76

The modulation index of an AM wave is changed
from 0 to 1. The transmitted power is:

(A) Increased by 50%

(B) Halved

(C)  Quadrupled

(D) Remain Unchanged

(E)  Question not attempted

AM T T AISISTH 39 0 & 1 § 9&et ST 2
I wfeh:

(A)  50% 3¢ STt &

(B) et BTt ®

(C) =T B St &

(D) 3mafafdd &dt g

(E) Agaid g%

Which of the following world Heritage sites is
from Rajasthan?

(A)
(B)
©
(D)
(E)  Question not attempted

frefefad o & i a1 fa et Tord Teeam 9 22
(A) TR feratr

(B)  NATd 31X

(©) iR

(D)  THT T HHIT

(E) qaid o=

Gagron Fort
Dholavira City
Sun Temple
Humayun’s Tomb

Which temple is dedicated to Lord Shiva are
described as shining like red ruby and are located
35 kms away from a town in the Thar desert ?
(A)
(B)
©
D)
(E)  Question not attempted

T TR1a &l TAIGA i dT HiGT oTel qTiureh shi
T =IHEHT EIAT T T & ST A e H T
TETH 35 fopeariet gt ford 27

(A) T wiieaHT HfT

(B) T s Hfa

(C) TG 9 <au ufeX

(D) T HfGT

(E) Igaid o=

Rani Bhatiyani Temple
Temples of Kiradu

Ramgarh Bhand Devra Temple
Ganga mandir
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The minimum number of Wattmeters required to

measure power in a three phase balanced system

is?
(A) One
(B) Two
(C) Three
(D) Cannot be measured by wattmeter
(E)  Question not attempted
it oot wigfere ST TR HT 6 o ST
TeHTER 3 AT HEAT T 22
(A) TH
(B) @
(C) =
(D)  ATeHYET & AT & ST TehelT
(E) a9
Match List I and List II :
List I List TT
a. Self-Inductance I.  Wien Bridge
b. Capacitance II. Anderson Bridge
¢. Mutual Inductance III. Schering Bridge
d. Frequency IV. Campbell Bridge
Tt [ ST g 11 T e
et 1 Tt 1T
a. TE-YH I A
b. far It s
c. UREHE ST 1. e o
d. emafa V. Fved forst
Choose the correct answer from the options given
below:
<R o e Pt & e e
(A) a-lIL b-I, -1, d-IV
(B) a-II, b-II1, ¢-1V, d-1
(C) a-II, b-I1, -1, d-IV
(D) a-II, b-II1, c-1, d-IV
(E)  Question not attempted / ﬂ@ﬁﬁ?r a9
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80

81

The power in a 3-phase system is given by

V3 ViI; cosO. Here O is power factor angle

between:

(A) Line voltage and Line current

(B) Line voltage and Phase current

(C) Phase voltage and Line current

(D) Phase voltage and Phase current

(E)  Question not attempted

Teh 3 o feeh 1 31feh T «/5 VI cos© FETH
[ERIKRIER N o off< TITcheRIeh SRI0T
=)

(A) TS e 3T ATET i

(B) TS dlees 3N el Hid

(C) T dlces 3T oTe i

(D) WS dled 3T e i

(E) gaidwd

Reactance relay is:

(A) Directional restrained overcurrent relay
(B) Directional restrained overvoltage relay
(C) Voltage restrained overcurrent relay
(D) Voltage restrained directional relay

(E)  Question not attempted

gfererma fret 2:

(A)  Temenss wafie () 3tetenie fiet
B) e wafia (EHe)3eraiees fot
(C) i aatHd (Tedae)Teatahie fiet

(D) dlees atHa (Ee) faemmenss fot

(E) SIfaia

Which type of C.T. is used for protection of

Star-Delta transformer?

(A) Star-Star (B) Delta-Delta

(C) Star-Delta (D) Delta-Star

(E)  Question not attempted

TR-Se ZEEHET T e & o forg wehm
.Y, T ST fohaT STl 29

(A) WREWR (B) Sel-sedd

(C) R (D) SRR

(E) Iqaid g%
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84

Frame leakage protection is used for the protection
of:

(A) Transmission line

(B) Synchronous generator
(C) Busbar

(D) Transformer

(E)  Question not attempted

THH ATehsl TTeaRT T ITINT f3HT & E3eq0r & fofu
]%FQTTTHT‘IT%:

(A) ZHEfEee AT
(B) fsha s
(C) «EAR

(D)  ZrEwHH

(E) gaid

Name the ‘Hero of Haifa’. (Choose the most
appropriate option from below)

(A) Major Dalpat Singh

(B) Major Shaitan Singh

(C) Brigadier Sawai Bhawanisingh
(D) Hari Singh

(E)  Question not attempted
BTEHT o BRI T AT Farsy) (FH H & T 39
fareea )

(A) WS T b

(B) s Rar fife

(C) Tomifeat war wart fi

(D) =ffiE

(E) 3l 9%

Which of the following is not a part of historical
Braj region of Rajasthan? (Choose the most
appropriate option from below)

(A) Bundi
(B) Sawai Madhopur
(C) Karauli
(D) Bharatpur
(E)  Question not attempted
Frfafad 5 9 iF TSTE o Ui st &
fear 78 22 (1 & & vl 39 forshe =14)
(A)
(B) s
(C) et
(D) WYX
(E) a9
[ Contd...
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For a 3-phase semiconverter, each periodic cycle

of output voltage has periodicity of:

3201 YHIFAG o [T, HPYE Aleed o Tedeh

ST <5k ShT SR &
(A)  60° (B) 90°
(C) 120° (D) 180°

(E)  Question not attempted / 31@?1'?@ Iq

A step-up chopper has input voltage V;, and duty
cycle 'a'. The output voltage for this chopper can
be expressed as:

TF WU-30 AR F T e V;, 3R g
| "o 21 39 TR o foIT 3M18eqe diees 1 39

TR S foRaT SIT 6k &

A) Vi (1+a)  (B) ¥,/ (1-a)
© V(-0) (D) ¥y (+a)
(E)  Question not attempted / ﬂaﬁﬁﬁ Tq

In switching mode regulators, to maximize

efficiency, the minimum oscillator period should

be -

(A) Twice of the switching time

(B) 10 times longer than the switching time
(C) 100 times shorter than the switching time
(D) 100 times longer than the switching time
(E)  Question not attempted
farfef wire yetet #, &1 i Strewad 1 % faTg,
= siffirere st eFf =t

(A) Reaf<ir g &1 3T

(B) fafmamad 10 T stfees

(€) FRafmawad 100 TR

(D) fTeafemawa @ 100 71 s1ferk

(E) Igaid g
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The gate-cathode characteristic of an SCR is a
straight line slope of 130. If allowable gate power
dissipation is 0.5 Watts for trigger source voltage

of 15V, the gate-source resistance will be -

TEHIAR T Ne-ene famiwar 130 i e @
TAN () =1 A 15V & IR A dieest & foe
THenr T1E UTa 3199 0.5 12 2, a1 e-grd Ifadry
I -

(A) 111.94 Q (B) 37193 Q
(C) 22291 Q (D) 7.68 Q
(E)  Question not attempted / 3T )

Primary function of distribution circuit relay is to
provide protection against which of the following

fault?

(A) Load shedding (B) Earth fault

(C) Overvoltage (D) Short circuit

(E)  Question not attempted

forawr wfhe et vt mafies &t fefafaa 9 &
o 21 3 e, eeT T T 2

(A) dreTfeT (B) I wice

(C) AR (D) Vi dfhe

(E) a9

Use of which of the following component
differentiate a percentage differential relay from

normal differential relay?

(A) Operating coil
(B)  Current transformer
(C) Restraining coil
(D) Pilot wire
(E)  Question not attempted
ffafad § & ford wreer T 39T Wfawra fosdt
Tt ol | fordlt fiet & ST shtar &2
(A) AT Higed
(B) i BT
(C) e eige
(D) YRS aTT
(E) qaia g
[ Contd...
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The per unit impedance of a power component is
0.25 pu. What is the per unit impedance of this
component if base kV and MVA are halved?

Teh UTa 512k < Tfd $ehTS SaameT 0.25 pu 21 a1
IR kV 3R MVA 3l AT 3 &1 91w ar 369

ek hT i gehTS SfdeITem T 2Rt

(A) 0.5pu (B) 0.125pu

(C©) 20pu (D) 0.03125 pu
(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

In a power system when 3 ¢ short circuit occurrs,
then the fault current is 10.0 pu. If this current is
to limit to 5.0 pu, then what reactance to be
induced in series at the fault point is:

fopelt ara fereem B S 3 ¢ Wi widhe BT 8, A T
®iee HE 10.0 pu Bl IS 39 HIZ HI 5.0 pu T
Hifd FET R, A Bice Uise W HAS  fohar fiugew
Ifta fomar s

(A) 0.1pu (B) 02pu
(©) 3.33pu D) 20pu
(E)  Question not attempted / 34@3'&?[ Iq

In the suspension type insulators, the string
efficiency can be improved by the following:

a. Using a longer cross-arm

b. Grading the insulator discs

c. Using a guard ring

Choose the correct answer from the options given
below.

(A) Only ‘a’ and ‘b’ is correct

(B) Only ‘b’ and ‘¢’ is correct

(C) Only ‘a’ and ‘¢’ is correct

(D) ‘a’, ‘b’ and ‘¢’ are correct

(E)  Question not attempted

I 2137 e H T gaTaT ot e st
ST ST HehelT &

a. s Shig-3TTH T SUFIT Hleh

b. 3o forww i afdT

c. TS T o SwE e

e fou T foreredt & © w3 T 99 HIfT |
(A) Fad ‘@’ b’ g E

(B) wad ‘b’ T o’ T E

(C) Fad ‘@’ 3 ‘¢’ T

(D) ‘a’, ‘b’ I T

(E) Srfaiaug
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96

The zero sequence current of a generator for line
to ground fault is j1.2 p.u. The current through
neutral during the fault is,

ST Z UTSE Biwe o [eTT ST hl T[T STTshRH 9T
j1.2 p.u B Hiee & SN =gl o AN Y FL E,

(A) jl2pu B) j24pu
(C) j3.6p.u (D) j4.8pu
(E)  Question not attempted / 3T T 9q

For creating equipotential points on pilot wire of

differential protection scheme is

connected:

(A) A variable resistor in series with pilot wire

(B) A variable inductor in series with pilot
wire

(C) Inseries with pilot wire

(D) A fixed resistor with series in pilot wire

(E)  Question not attempted

fervigen Geatm FISMAT o URee AN W Al foig
T o g I ST ST 2

(A) UFEE AR & A @A § Th qHEd-
gferas

(B) UTHEIE A % §TY J@el § T IRadH1 I

(C) UM IR o |1 @t &

(D) UTRISE 1 o §TY W H Teh e Wit

(E) Ffdia o

What is the maximum time limit for marriage
registration and issuance of certificate under

Rajasthan Public Service Guarantee Act-2011?

(A) 7 days (B) 10 days
(C) 15days (D) 21 days
(E)  Question not attempted

TSTEIT Aleh 9aT MRS ATIEH-2011 % d8d faarg
GS{IoRIur UF THIOT 97 ST i <hT ATIehad g0
T T R?

(A) 7@ (B) 10T
(C) 15T (D) 21fF
(E) qdiaug
[ Contd...
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Input power to a 3-phase circuit is measured by
two-wattmeter method.The readings of both the
wattmeter will be positive, when phase angle (¢)
is:

3-% fehe | $IYC WA &I A-ATeriet fafr g
HTAT ST BT ATSHIST 3T U3 ST &1k BT, ST

T I () € -

A ¢=0° B) ¢=60°

©)  ¢<60° D)  ¢>060°

(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq

Given below are two statements: one is labelled
as Assertion A and the other is labelled as Reason
R.

Assertion A: Resonance occurs in a series circuit
at a frequency of wy=—F7—

Reason R: The impedance of the circuit at this
frequency is maximum.

In the light of the above statements, choose the

correct answer from the options given below

(A) Both A and R are true and R is the correct
explanation of A

(B) Both A and R are true but R is NOT the
correct explanation of A

(C) Aistrue but R is false

(D) A s false but R is true

(E)  Question not attempted

et 2 oo fau T &: U bl Al A sfgE
ERURNE SRR |
Af®AT A: R 0y ==
PIERIRITER) (&rﬁﬁ)ﬁﬁmélm
HIUT R: 36 TGN T Hiche hi IFqamaT AR
2t 2

YU T ok b1 H, 1= fou T foreedt € et

F A |

A

(A) AIRRIATHAE IR, A FIHE TR
2l

(B) A 3R R ST 4T € WAfhd R, A T |al
TqRAoT T 2

(C) A9 2 AT R 39 &

(D) A 3T ¢ Ak R T

(E) 3rgaid o
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100

101

A power system is designed for 50Hz supply.
The corona loss in this system is 0.5 kW/phase/
km. Now, this system is operating at 60 Hz
frequency. What will be the new corona loss at
60 Hz?

T TR feed 50Hz HeaTs o for fesTret foram
31 38 e & RIUAT 1@ 0.5 kW/phase/km 21 314,
78 fee 60 Hz shiaae! 7 M L T 28l 60 Hz T
AT ST A AT BT

(A) 0.5 kW/phase/km

(B) 0.566 kW/phase/km

(C) 0.60 kW/phase/km

(D) 0.416 kW/phase/km

(E)  Question not attempted / 3ﬂ?fﬁ?[ Iq

In a nuclear reactor, chain reaction is controlled
by introducing

(A) Steel Rods

(B)
©)
(D)
(E)  Question not attempted

T RO, St A T3Re o i e 3
(A) Rz

(B) Fefirm#rss

(C) wRFBL

(D) diaa B

(E) aid

Cadmium Rods
Iron Rods
Brass Rods

—at —bt
Laplace transform of % is:

—at  —bt
e —e

— T ATCATH EYTLT 2

1 |
A Traecm B Taeh

1 1
© Gactn P GraeTh
(E)  Question not attempted / ﬂ@ﬁﬁ?r 99
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The Z matrix of a 2 port network is given by
0.9 0.2
0.2 0.6

The element Y,, of the corresponding Y-matrix

of the same network will be given by

2 U deas @ Z A 38 YR fear S @
[0.9 0.2}
0.2 0.6

ST 32 o W YA 1 ded Y, 36 THR
[ERUS I

A) 120 B) 040
< -04Q D) 1.8Q
(E)  Question not attempted / 33Ii|?||3?a Tq

A 10V battery with an internal resistance of 1Q
is connected across a non-linear load whose V-1
characteristic is given by 71 = V? + 2V. The

current delivered by the battery is -

(A) 5A B) 24A
(C) 5Aand24A (D) 20A
(E)  Question not attempted

1Q & 3dier Ifety aret 10V S =
g e ¥ Sher T 8 59t V-1 stfsrersor
71 = V2 + 2V g feam warm B) siedt g feam mar s
?

(A) SA (B) 24A
(C) 5AR24A (D) 20A
(E) 3raid 9

The value of the Curie temperature of iron is

About 1555 K
About 1322 K

(A)
©
(E)  Question not attempted

TR % TR ATIH 1 A 2
(A) WTT1043K (B) T 1555K
(C) WMT1422K (D) WMT1322K
(E) SFfaiaug

About 1043 K (B)
About 1422 K (D)
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The phenomenon where superconductivity in
material is suppressed by exceeding the maximum
current the material can conduct (Jc) or the
maximum magnetic field it can withstand (Hc) is
called

(A) Sinter (B) Quench
(C)  Stripes (D) Proximity effect
(E)  Question not attempted

g " fora vered 7 sifa=retehar 1 uere grr
TreTferd STRIshdd 9T (Jc) a1 9ered gAY a8 foRu S
e ATt SATHad Gaehd &1 (He) § 310 8 |
34T T SITaT 2, 39 her a2

A) faz (B) &=
(C) it (D) Trepear o
(E)  3qaild 9%

Which of the following statements is not

CORRECT with relation to the properties of

dielectric material?

a. The electric field outside the dielectric gets
modified due to the induced dipoles.

b. The induced dipole aligns in the direction
of applied electric field.

c. Dielectric contain free charges.
Due to polarization, dielectric can store
energy.

Select the correct answer using the code given

below.
(A) Onlyaandb (B) Onlybandc
(C) Onlya,bandc (D) Onlya,bandd
(E)  Question not attempted

TR were o TN o Hey § freforfigd d @ e

|1 YA Hal T8l 82

a. U o Sred fagd & Uita fgyat o swror
TN 21 ST 2

b. i@ feya @y forra & <t fawm & wiflaq
BT 2

d. gl % HRO, WA FHe1 UL B
kT 2l

il fow 7T e T ITANT Heh weT 3L |

(A) FaAa Wb (B) HaAb3IMc

(C) ada,b3Mc (D) Hada, b3 d

(E) aid 9
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When a current i(t) =5 + 10 cos314t is measured
by a electrodynamic ammeter, the meter will
read:

S forpaniaehl (Cogrer™Hie )3riet grr |m
i(t) = 5 + 10 cos314t AT ST &, ¥ HeT UreHish

m:
J521102 B) 4/52 +&
/5 " 10 (D) /5* +210

(E) Questlon not attempted / mﬁﬁ Iq

(A)

What will be the value of Ip and V, in the
following diode circuit using approximate model
of diode?

RIS o STIHT( HISe hT ST FLd B Frfeifiaa

SRS "ithe | Iy 3TV, T 7 T ST
1.2 kQ
+ 8V AW Vo
£ 61k0
IDl X/ Si

(A) Ip=0,Vy=0
(B) D = 1mA VO 6.8V
(C) Ip=1.096mA, V,=6.7V
D) Ip= 1.96mA, Vy=6.07V
(E)  Question not attempted / 3'-|i|?l|?a Iq

For Bipolar Junction Transistor, the relationship

between o and B current gains is:
e e S R e
e wey 2

p

W e=rig B a=rig
© oa=01+p D 0t=ﬁ’%1
(E)  Question not attempted / 34@3'&?[ T4
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111

A Common Collector (CC) amplifier is also
known as:

(A)
(B)
©)
(D)
(E)
Th HH shetaed (Aeh) Tuel e s
A G oft ST ST R)

(A) U HIART

(B) & U

(C) ST

(D) FAF IR

(E) 3l 9%

Emitter Follower
Base Regulator
Zener Regulator
Collector Regulator

Question not attempted

With Negative feedback, the system stability and

system gain respectively?

(A) Increases and increases
(B) Increases and decreases
(C) Decreases and increases
(D) Decreases and decreases
(E)  Question not attempted

ThNIcHF hied & a1y, foreeq feerar o faeen
SIERHE
(A) edre AT D
(B) #@dl® S Hedl e
(C) wedTs RTears
(D) HeaT? A Hear e
(E) orgafaus
[ Contd...
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The magnitude plot of an open loop transfer

function is shown in figure below:

T ol A T e b fefehid Tt A1 o
T fo O femm R

0 dB/ decade

0.1

113

B129

20 w (rad/sec)

Z

40 dB/ decade

The transfer function is:

T B &

2
ks
(1+0.5s) (1+0.055)

(A)  G(s) H(s)=

2
ks
(1 +2s) (11 205)
k
52 (s+2)(s+20)
3
2 (1+0.55) (1+0.055)

B) G H(s)=

©)  G(s)H(s)=

D)  Gs) H(s) =

(E)  Question not attempted / ﬂﬂﬁﬁﬁ 945

The Nyquist plot of a type-1 system is shown in
the figure given below. The system has:

2159-1 Taen o Arefeese wite fi= o o femmn
T 2| faEen 1 2

Unit circle .

.
.
’

(A)
®)
©
(D)
(E)

/E1] /\

G.M. = (+ve), P.M. = (-ve)

G.M. = (+ve), P.M. = (+ve)

G.M. = (-ve), P.M. = (-ve)

G.M. = (-ve), P.M. = (+ve)
Question not attempted / 3ﬂ?|ﬁﬁ Iq
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Given below are two statements:

Statement I: A synchronous motor operating at
leading power factor can be employed as
synchronous reactor.

Statement II: In a synchronous motor hunting
can be reduced by providing damper winding.

In the light of the above statements, choose the

correct answer from the options given below

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I is true but Statement I is false
(D) Statement I is false but Statement II is true
(E)  Question not attempted

U 1: ST 31T S THHATIAT T qedehlicish
I 1 qedrshiicish Nt o &9 1 fafor fora s
Heha 2l

HAA I1: T JeaHlicTeh A § SFR AT 9o
STk BT hT A ToRalT ST Tkl 2

ST HUAT o TR H, = fq T et & 9 wE
st

(A) 1 SR HIT 1A HeT &

(B) & [ 3T H I1 ST 19T &

(C) U1 T § i o 11 3T &

(D) I | 3T & Ao o [1 9 &

(E) 31gaid o

In Swinburne’s method of testing dc machines,

the shunt machine is run as a

(A) Motor at full load

(B) Generator at full load

(C) Motor at no load

(D)  Generator at no load

(E)  Question not attempted

et it o wier At e fafer #, vie 7efa st
& 9 T IR ST 2

(A) O &S WA

(B) U &le TS

(C) fomT dre AR

(D)  fomT Sre W ST

(E) 31gaid o
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For a P-pole machine, the relation between

electrical and mechanical degree is given by -

P-uie WM % T, forpa i wife feuft & =

Y 36 YR far T €
ISR -29
(A) electrical — P Y mechanical
4
(B) eﬁlectrim,l =P emechamcal
(C) eclcctm'cal =Pp emechanical
_P
D) Qelectm'cal — emecham’cal

(E)  Question not attempted / ﬂ@ﬁﬁ?‘f 99

Who was the founder of the Parmar Dynasty of
Abu?

(A) Utpalraj (B) Dhumraj
(C) Mulraj (D) Ajayraj
(E)  Question not attempted

TS o TR AT ShT EHEATTH i AT?
(A)  3cUeS (B) gAUS
(C©) HAUS (D) ST
(E) gaid v

Ashokan Bhabhru inscription, found in

is considered to be the most authentic document
attesting Ashoka being a Buddhist.

Choose the most appropriate answer from the

options given below.

(A) Balathal (B) Bairath
(C) Baror (D) Tilwara
(E)  Question not attempted
ERIRIRRIE IR FANRIRCICRICY
o 15, T T T8 JTHIUT &S] HHT SITdT 8
e foq T forshedt 7 € Herd IR I |
(A) ST (B) w3
(C) R (D) facrarer
(E) SIgaia s

B129/E1] /\
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The founder of the Chauhan Dynasty of the
Ranthambhore is
Choose the most appropriate answer from the

options given below.

(A)  Arnoraj (B)  Ajayraj

(C)  Govindraj (D)  Vigrahraj IV

(E)  Question not attempted

T o =IET 37 o eI B
it fow T forspedi & € HeE ST ST ]

(A) SIS (B) TSRS

(C) TS (D) Towrewst =qd

(E) 3qaid 9

Which great hero’s character has been described
in these lines, “Pag Pag bhamya pahar, Dhra
chhod rakhyo dharam// Maharana Mewar, Hridai

Basya Hind re “?

(A) Maharana Uday Singh
(B) Man Singh

(C) Maharana Pratap

(D) Pathan Behlol Khan
(E)  Question not attempted

T QT T U, O BT TEAT SR //HETIO 64T,
73T 95 feg U 3 uferdl ® fopg wem ot & =fer
T U f3RaT T 22

(A)
(B)
©)
(D)
(E)

HERIUT 337 f4iE
LIEIGES
HERT ST
U3H SEdid @t
I RRICRE]
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I o= &1 it & - et i ST fdtr i, wdverr el ot wlier et oied 9 qd wlieell 3o o <l g it
efteen st €T, wtereff wet Tt ufd <t ST el i | sereh g 3T e <l qet id ol 19 urd ST 3R, Tt
ST T S Wi & e ATET 6 AIS L WIaHT Qeish 3T T araedt i € | wdirameff e wfa &1 1o aror &
SR |
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